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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180313
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861804667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

ADMIT : YZIGP :; COLONY : ?
Options:

1. v YMHMJU

7 % YLHMIU

3 % YNHNJU

A % ZMHMIU

Question Number : 1 Question Id : 5861804667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF BN WA I 1 A W THE W 3 O ¥ eiUT B, O T ¥ gy 3R W Ted 3EN
g ¥ HEOA g

ADMIT : YZIGP :: COLONY : ?
Options:

1. v YMHMJU



2 % YLHMJU

3. % YNHNJU

4. = ZMHMJU

Question Number : 2 Question Id : 5861804668 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.

2162 :90::6222:7
Options:
1. = 91

3.v 9

A % 98

Question Number : 2 Question Id : 5861804668 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TF TN g S SOl TEw ¥ 36 X ¥ FElNT ¢ Ow R ¥ ol g Tgel gem ¥ wefaa §

2162 = 90 8222 & 7
Options:

1. = 91



Question Number : 3 Question Id : 5861804669 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. = 624:64

? % 252:92

3 % 446:74

4.« 426:58

Question Number : 3 Question Id : 5861804669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Yood HEAT T3AT H ¥ JF U Il ¥ §AF g, F9(a 394 § UF HelT gl 38 & v I

Options:

1. = 624 :64

2 % 252 :92



3. % 446 : 74

4. v 426 : 58

Question Number : 4 Question Id : 5861804670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

0l|@)| =

X

Options:

Question Number : 4 Question Id : 5861804670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



5T dfodes HFAA H ¥ 98 HFiT I3 S S HHia HTGg T T HLal 872

Q@)=
X|O|®
ﬁ ?

=

Options:

5B OO

Question Number : 5 Question Id : 5861804671 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:
1. v CANTEEN : JXYVJAA

% % BICYCLE : YEXAAHY



3 x UIILITY : EPQNUPE

/. « ABANDON : WXWPIKZ

Question Number : 5 Question Id : 5861804671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN Feod e AT H F AT T i H TAT g, a1 37 8 T 37009 g1 $a7 & owd o]

Options:

1. « CANTEEN : JXYVJAA

2. % BICYCLE : YEXAAHY

3. = UTILITY : EPQNUPE

4. = ABANDON : WXWPJKZ

Question Number : 6 Question Id : 5861804672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures.

A

Problem Figures
Options:



4 v

Question Number : 6 Question Id : 5861804672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 SFfoves Hpiadl H ¥ 98 Hgpia I+ e afsrereror & waewr smpfadt & 7= 2

Q A

HHEAT HTFaar

Options:




Question Number : 7 Question Id : 5861804673 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. ® Clock: Time

% % Thermometer : Temperature

3 Ammeter: Ampere



4. » Anemometer : Wind Speed

Question Number : 7 Question Id : 5861804673 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TN Feod eg JEAT A W A7 T ik § THA ¢, ol 394 § TF 7o g1 a8 & fawd o)

Options:
1. % ©BT: §AT

2 % YHAHRT : a9A

Question Number : 8 Question Id : 5861804674 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Two different positions of the same dice, the faces of which show some letters, are shown below.

Which letter is on the face opposite the face showing R?

™ P
s
\") < M =
R,
N|R |Q P
~ Mo
aﬁwp)ﬁ : ff"ﬂ
Options:
1. &« M



3.vP

4, % Q

Question Number : 8 Question Id : 5861804674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & 9T F &I HeET-30T Uge 8, TS Bolsh $o He HAra famre 1w g

R &I @ Jrer Gos & TTH JTal Bofsh 97 Hied T 37877 872

N 2 g 5
P e
M <M
S P
N R| Q| P
Hﬁ‘m f"f HR”‘ -
o P o
Options:
1. = M
2 % N
3. v P
4. = Q

Question Number : 9 Question Id : 5861804675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following patterns of the dices can be formed when the sheet given below is folded?

& 1 3 1

(1) (2) (3) (4)

Options:
1. % ©Onlyl . 2and3

? % Only2 3and4

3 % Only2and4

4. » Onlyl 2and4

Question Number : 9 Question Id : 5861804675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S 9ecd ofe & Wies faar Srar §, 99 3w (TR) F SeHA A ¥ FiA 6 U g Hepar g2

3
21 4
1
5| &
1 2 5 4
R Tl s |4 s

(1) (2) (3) (4)

Options:

1 » &1, 23R 3

2w HEF 2, 3 3R 4

3 % Faa 23R4

4 o FEa1, 23R4

Question Number : 10 Question Id : 5861804676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Asmita travelled 2 ki towards East, took a right turn and went 4 km. After that, she took left turn and went 5 km. Then
she took a right turn and went 5 km. Then she took a left turn and walked 5 km.

At what shortest distance is she from the starting point and in which direction?
Options:
1. = 21 km. South — East

7w 12 km, South — West



3 g 12 km. South — East

A v 15 km, South — East

Question Number : 10 Question Id : 5861804676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEFaT 9§ Fr 3R 2 km Tord &, g€ 3R HIHT 4 km TO §1 3T T 9F A€ 3R 75 5 km
= g1 T 38 &% HIT {59 5 km =rordr g1 T 98 915 3R {3 5 km Tord El

TF 3O TRy g ¥ fraeh sevaw g sk e R & @2
Options:

1 % 21 km, OGS

2w 12 km, SEU-AREH

3y 12 km, gfEorq

4 o 15 km, gfEorgg

Question Number : 11 Question Id : 5861804677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark in the given matrix?

66 335 (8| 111
42 | 106 (6| 68
| BT 3

Options:
1. = 181



7w 183

3 % 185

A = 187

Question Number : 11 Question Id : 5861804677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yeod HTEg A 93 e & T W w9 @ §=w H7wei?

66 | 335 |8 | 111
42 | 106 |6 | 68
| B3 7| @

Options:

1. % 181
2. » 183
3. % 185
4. = 187

Question Number : 12 Question Id : 5861804678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight friends A, B, C and D, E, F, G and H are sitting around a round table facing the centre and at equal distance from
each other. H is not the neighbour of E and D. G is neighbour of E. C is between E and F. F is on the immediate right of
B. H is on the immediate left of A. Which of the following statement is NOT correct?

Options:
1. » D isatequal distance from E from both left and right ends.



2 Dissitting at second place to the left of C.

3. % His third to the left of B.

4. » F issitting between C and B.

Question Number : 12 Question Id : 5861804678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS &g A, B, C 3R D, E, F,Gaﬁterﬁaﬁa#sﬁﬁr&meﬁrmmﬁﬁgm@ﬁ
AT WIS HEMNDFT S ai 81 GEFTBHEC EFFFIFT T F 8+ B
H IE WX B H Sk A F I 3R §| =90 T FiT T U9 TeT F47 87

Options:

1 » D% IR R A & ¥ E ¥ AL g R 7l
5 v D, C & a8 3R ¥ g8 T | gl
3 « H B & &% 3N & dW T W g

4, » F, C3TB&FATRI

Question Number : 13 Question Id : 5861804679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anurag and Vijeta are sitting facing each other on a sunny morning. If the shadow of Vijeta falls to the left of Anurag,
which direction is Anurag facing?

Options:
1. = East

7 % West



3.« North

4. % South

Question Number : 13 Question Id : 5861804679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v Bafer gag #1 3wt i e o gEy Fr T 5 F1 3% §) i e # oy e
¥ % HR IS €, A HT Hr R 4 F?

Options:

Question Number : 14 Question Id : 5861804680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three teachers Mavank, Firoz and Hardeep teach one of three different subjects i.e. Sociology, Hindi and Geography to
one of three different batches P, Q and R. Hardeep does not teach Geography. Mayank does not teach batch P. P batch
does not study Sociolgy. Batch Q does not study Geography and Sociology. Hindi is not taught by Hardeep and Firoz.

Which subject and batch is taught by Hardeep?

Options:
1. % Geography, Batch R

?  Sociology. BatchR



3 x Geography. Batch Q

/. % Hindi, Batch P

Question Number : 14 Question Id : 5861804680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Pretd 7w, o 3 g @9 39 P, Q 3K R & 3= @ @9 FeE-3eeT AW a@Eriere-onEs, Tar
AR sEie Je &1 AT sES g Yei g1 Hue 37 P # F@r Terdr g P & menfee-enss F@
9EdT g1 39 Q s AR WRAITo-ET F8 9edm gl gard iR B BEr 78 9o g

TR Fw 89 = gear T 3k FiF 3 Tug e 2

Options:

1 = ﬂfﬂﬁ',aﬂ'ﬁ

2, WHATSS-ATE, 99 R

3. s S{Ihﬁ',a?l'(]

®

4, « & &P

Question Number : 15 Question Id : 5861804681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



How many triangles are there in the figure given below?

4=
N4

Options:

1. ¢

wn
I

n
LWF¥]

2. %

bb.
3

L
LA

Question Number : 15 Question Id : 5861804681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= &1 I Ty 7 hae T 87

—
N4

1. v 52



Question Number : 16 Question Id : 5861804682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four statements are given. followed by three conclusions. The symbols used in them have meanings as follows:
P (@ Q means P is neither smaller than nor greater than Q.
P & Q means P is neither greater than nor equal to Q.
P # Q means P is neither smaller than nor equal to Q.
P % Q means P is not greater than Q.

P $ Q means P is not smaller than Q.

Now read the following statements and decide which of the conclusions is/are true.

Statements:

U#B

A&B

B@s

R#B

Conclusions:

I. U#A

II. R#U
. S & U

Options:



1. % Only conclusionIis true.
2 % Only conclusion I and II is true.
3 Only conclusion I 'and II is true.

4 = All conclusions I, IT and IIT are true.

Question Number : 16 Question Id : 5861804682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= T 71T 991 F a1g TR Fu U ow § A 39 T O Teay of fGw v § sad 9gea i
F 37 AR 8

P@Qm3agFPaarQaorrg ik
P&QHF ITEFPTaAT Q& 7= ¢ 3k 7 e 2
P#HQF AT EF P A ar Q@ oier g 3k 7 s 81
P% Q& ¥4 g & P, Q& 21 =g &
PS$Qar 5T & & P, Q¥ oler g gl
3 @Fa Fual & 98 3T a7 F & =T O HiF and Teey o 28
YA
U#B
A&B
B@S
R #B
s

: 1 A

I.LR # U

H.s & U
Options:

1.« aer @y | TEr g

2w ae Ay | R 1 T g



3. o waa fasey | 3R I T 7l

4.« @ EsE AR I EE

Question Number : 17 Question Id : 5861804683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
given statements.

Statements:

All cameras are phones.
Some cameras are laptops.
Some laptops are gadgets.

Conclusions:
I. Some phones are laptops.
II. Some gadgets are camera.
III. No gadget is camera.
IV. No phone is laptop.
Options:
1. » ©Only conclusionIand II follow.

? s Either conclusion IT or III follow.

3 Only conclusion I and either IT or ITI follow.

4. = All conclusion follows.

Question Number : 17 Question Id : 5861804683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A e e e € 3R s A | ¥ IV e wR T of Rw e §1 et #F we Awd e, e
& T gAETAT: A9 928 ¥ e o &, 99 F{ F FiF @1 Ty Ot 9 ¥ vecg T 7
ITEIOT FHIT ¢

FYUA:

Tl FAY v
FS FAL AT g
FT e e §

Gk
. T B AT B
I. FT e FAY §
. g S5 FAT 747 7
IV.FIE B 9T Far ¢

Options:

1 x Faer sy | 3R 1| agaor = g

5w ar fasas 11 3T 11l 3EoT e gl

3 v haer forssw | 3T am & |l 47 1] 30T &3 g

4 = wefr s aregavoT & 2

Question Number : 18 Question Id : 5861804684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five doctors, A, B, C, D and E, and five engineers. P, Q. R, S and T,
such that there are equal number of doctors and engineers in the team and it meets the following criteria:

i. Cand S cannot go together.
ii. B and D must go together.
iii. A and Q must be together.
iv. B and R cannot go together.
v. A and S must go together.

Which of the following teams can be formed?
1. ARSBCD
2. CDPQAS
3. BTDECP
4. PAQSBD

Options:
1. « Only4

? % land?2

3 % 3and4

4 % 2andd4

Question Number : 18 Question Id : 5861804684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



9T Sleei A, B, C, D 3R E, iR s s P, Q R, S 3N T #H ¥ 35 50 o ¥ & & &H
T AT § 5 &R 7 sl A gehfae & = wAw @ iR e Aeds 9w an

i. C 3T S v Ty A4 & Al
i. B 3T D v @y = =gl
i. A 3T Q T @y g =T
iv.B 3T R U= @1y #ET & g5d]
v.A 3T S T @y g =nfgu)

fFfefaa &d #& @ i & 58 31 Fdr 22
1. ARSBCD
2. CDPQAS
3. BTDECP

4. PAQSBD
Options:

1. & oo 4

7w 1 3kt 2

3w 3 3T 4

4. = 2 3K 4

Question Number : 19 Question Id : 5861804685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Lecturer - Mathematics’ are as follow.

The candidate:
1. must have passed M.Sc. (Mathematics) examination with at least 70% marks.

2. must have secured more than 75% marks in the written test and more than 60% in the interview,
3. must have at least two years experience of working as a Lecturer.

However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than 90% marks in M.Sc. (Mathematics), his/her case is to be referred to the Principal.
b. no. 3, but has completed Ph.D. in Mathematics, his/her case is to be referred to the Academic Head.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Mitali has completed M.Sc. and Ph.D. in Mathematics with 78% marks. She has obtained 76% marks in both interview
and written test. She has got two years’ work experience as a Lecturer.

Options:
1. «+ The candidate is to be selected.

? % The candidate is not to be selected.

3 x The candidate’s case is to be referred to the Principal.

/] % The candidate’s case is to be referred to Academic Head.

Question Number : 19 Question Id : 5861804685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘mm-ﬂﬁ?a:qaa:ﬁwaﬁmgaﬁ#ﬁmmﬁmwﬁ
IFHIEaR:

1.7 TATEE (71f0E) F 7gAad 70% e § 3T g =g

2. of@a afem H 75% ¥ #fOF 3R @R # 60% ¥ 3% 3F g =iev
3.9MATIH & TT H FH § FH 2 Tel F HJHT glel TN

greliieh, Tl 3FAGaR 390 Fef AIEs I T g, fHare:

a. 7. 2, dfhed 3FF THTHI (F0E) F 90% ¥ 3% 3% & I 35 AT JuE=T Fr
ST AT

b.;'r.s,ﬁmmﬁ?ﬁmﬁmﬁr{hﬁ?%‘,ﬁmmmgﬁaﬁm
T

Yood ATTEEr & 3R 9Y 3kt G o 3fRfeT Feer o T BT e, e e seeER &
fore Sger o= B

fHarer & ot # tA.TE.d 3t wedr 78% 3 F @1y # §1 39 fEe giew #R aerer et
# & 76% ¥ B §1 3uF 99 o e F ATF F T H FA F F Hgad o g

Options:

1 v 3FAERT AT ST =T

2w 3FHICER & 73T AT ST =MET|

3w 3FHIEAR F AH P TUEET & 98 8= oA e

4 = 3FACAR & AT & HFEHS THE & I &7 fezm Seem|

Question Number : 20 Question Id : 5861804686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Marketing Executive’ are as follow.

The candidate:

1. must have passed Master of Business Administration (M.B.A.) examination with at least 75% marks.
2. must not be less than 28 years and not more than 32 years of age as on 1 January 2019.

3. must have at least two years experience of working as a Sales/Marketing Executive.

However, if a candidate fulfils all the above criteria EXCEPT:

a. no. 2. but has got more than 3 years experience of working as Sales/Marketing Executive, his/her case

is to be referred to the Head (Marketing division).

b. no. 3. but has more than 85% marks in Master of Business Administration (M.B.A)., his/her case is to

be referred to the Senior Marketing Manager.

Based on the criteria given and without assuming any additional mformation. you have to a take a decision for

the following candidate.

Swaroopa has passed M.B.A. with 76% marks. She has been working as Sales Executive for the last three
and a half years. She was born on 28™ December 1986.

Options:

1. ® The candidate is to be selected.

? % The candidate is not to be selected.

3 The candidate’s case is to be referred to the Head (Marketing division)

4. » The candidate’s case is to be referred to Senior Marketing Manager.

Question Number : 20 Question Id : 5861804686 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

e Fuer # B IRy F 92 & T sEieaR & 99w w9 g Rl Aes Areeer 2

IFARGIN:

1. FH ¥ FH 75% 3Fr & TY AET A =g sfEfFses (MBA) TfeT 30T & e
=M T

2. 1 FAA=Lr 2019 r 28 I ¥ FH X 32 a¥ ¥ 3fOw #1 Fg7 Far =R

3. 35& oTH fsfr / Bfr il & ¥ # &7 W FA g Wl F HA 7T g1 A’

grelteh, TG #I5 3FHEar 7 & 3eer sRied |l Aes! #F QU & &
a. FH TEAT 2 F e, e 30 By / Bef F99lt & w9 7 3 e @ #UF F oFEgsE §oar
3HF AH H T7G (hr femmen) & 9@ d=r S

b. H HEAT 3 & aTEl, ofhed 38 ATE 3% ooy TsfAfAEe (MB.A). # 85% & AU 3%
greg T &, O 3HF ATA @ Fise R yEus F U SIS S|

for 717 A=EST & R W R e e 3efem Seedr F 7 o3TEer e, e Retetaa
3FAEaR & for ot o= 7

EET A 76% R F AT MBA 8 Fa g T Roas g 9 o0 @ G T F ® H F1H
m@r%mm%ﬁlﬁmwssﬁgmw
Options:

1. SFHICAR AT Sl MET

D SFHIGER & AL A S AT

3 v 3FAAR & A & 97T (fashr ) & ar &= & e

A« 3FHIGAR % AHC H IS T TS & 9w &S I S|

Mental Ability2
Group Number : 2
Group Id : 586180223
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 586180227
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180314
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861804687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?

<\

\ -~

Options:




o

2.
3. =

ap
4, =

Question Number : 21 Question Id : 5861804687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & @ 7 a1 e @ & 73 gl 1 TWEr Fo-ofy F gEr 87

ol

Options:

1. =



Question Number : 22 Question Id : 5861804688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

RfFG5E49pzK34
Options:

1 » PEKsq6R3IcOIA
9« PENsQEREEOIA

3. » PENsdepicDiA

1 . MElsqeprizdia



Question Number : 22 Question Id : 5861804688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yerd WAE T Wl gUUT BiY IoA, IR AW F gligs AN Tk Fearay 9T I@T A1 ¢

RfG5E49pzK34
Options:

1 » PEKsq6PICDIA

5, BENsqepEesia

3. » PENsdepicoiA

4 ., POlsqerIzpif

Question Number : 23 Question Id : 5861804689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A) 64R##D & T7%5%2@8"$
(B) 64R##D & 7%582@9"8S
(C) 64R##D & T7%582@8"S
(D) 64R#5D&7%5%52@8+5%
(E) 04R##D & 7% #52@8"5S
(F) 64R##D & 7% 582@8"S
(G) 64R##D & 7%583 @88
(H) 64R##D &7%552@8"$
Options:

1. = B.CandE



7 % A CandD
3 ¢ A FandH

4 % B, FandH

Question Number : 23 Question Id : 5861804689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TS TH-UEA & THE foU a0 g, AN ¥ dF vF FA 2| foge A 7 gHg 99T

A) 64R##D&7%552@8"%
B) 64R##D&7%552@9"%
(C) 64R##D&7%582@8"$

D) 64R#$D&7%58$2@8"$
(E) 64R##D&7%#S2@8"$%
(F) 64R##D&7%5%$2@8"$

G) 64R##D&7%5%3@8"%

H 64REAED&T7T%HS2@38" %
Options:

1 %« B, C3RE

2 %« A C3HRD

3 » A F3RH

Question Number : 24 Question Id : 5861804690 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which of the given figures, when fitted into each other would form a rectangle? Select an appropriate combination from
the given options.

A\

Options:
1. = ABCE

9 % ABED
3.« ACEF

/. % BCDF

Question Number : 24 Question Id : 5861804690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=H ¥ fFw agfa & vw g A e F3 W, U ¥Oa F99? Woed Reedr # ¥ 3fREE @aET I

VAISSAN

Options:

1. « ABCE

2 % ABED



3. v ACEF

4. » BCDF

Question Number : 25 Question Id : 5861804691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the diagram given below, the circle stands for *Girls’, the triangle stands for *Athletes’, the rectangle stands for
‘Social workers’, and the square stands for “Students’. The numbers in different segments represent the number of
persons.

65

LN

AN N

i Kl? 9/ K;3:.'1 : \{151) &

45

13

Which of following statement is NOT correct?
Options:
1. % The number of girls who are athletes and social workers but are not students is 32.

2 % The number of girls who are social workers, athletes and students is 15.

3 » The number of girls who are not social workers but are athletes as well as students is 8.

4. » The number of girls who are social workers but are neither athletes nor students is 11.

Question Number : 25 Question Id : 5861804691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A Jeod INT A, oo FRFA 1 G 8, P Bemdr @t gifar g, 3a wmiae edwdr
gelrar ¥ 3T =1 o #Y gAtar §1 HeEr-37eeT Wa Y &Y 7 EU’ eufdadt o §EAr o garEr §

A AN

i K” 9/3215 \\1\151) 3}

45

13

ST W P T FUT T AR 87

Options:

1. =
v oAt Fr gear 32 & S e off § i oranfee wdear of £ ST o 7 ¥ £

2 U wEfEE & e 15 §, S eree Fedl, @erd afea o J8 g

3. %
oy weEfarat &Y gwar 8 B, S WIEfees el o Jar 8, offeheT [aemeEr HYT o 2

4. v
OH FEfRat #T IEaT 11 S rEae FEedr ar g, afed e 3t oy J8 2

Question Number : 26 Question Id : 5861804692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option figure which contains figure X embedded in it as its part.

Figure-X

Options:

Question Number : 26 Question Id : 5861804692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SIH ¥ 98 Hpia I Swa ampfa X @ v o1 g

Hfer X

1. =

FiA

v
2. %

[N

N
3. ¥

dl.
4. =

Question Number : 27 Question Id : 5861804693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following option figure will complete the pattern in the figure given below?

Options:

7

&




Question Number : 27 Question Id : 5861804693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Talafa ReeT & @ o7 @ ¥opfa a9 & 7% 3T S F R FE?

Options:




Question Number : 28 Question Id : 5861804694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a family of six persons, Lakhan is Gaurav’s father. Damini is married to Rakesh. Sameera is the mother-in-law of
Damini. Urvashi is the daughter of Sameera. Gaurav and Rakesh are brothers.

Which of the following statement about the family is NOT correct?
Options:

1. = Sameera is wife of Lakhan.

? % Gaurav is son of Sameera.

3. % Lakhan is father-in-law of Damini.

/]« Urvashi is Damini’s sister.

Question Number : 28 Question Id : 5861804694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



G SOiagd F TF 9ER #H, m,?ﬁﬁmﬁm%laﬁ:ﬁaﬁranﬁmrﬁﬁé‘i TR, AT
TE g1 39, JAR #v %9r  FiT 3w o §

ofER & a7 & s ¥ i o FuT oEr a9 8

Options:

1« TN, T@ # T gl

D x TRE, WHRT F T

3 TG, SR HOEE 2

4 o 39, fEer & 5ga g

Question Number : 29 Question Id : 5861804695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A + B means A is sister of B’
A — B means ‘A is wife of B’

A » B means A is father of B’
A + B means “A is mother of B’
A $ B means ‘A is brother of B’

If, K+P+IxK-QS$D~+T+H,

then which of the following statement is correct?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Kis motherof T.

2 His daughter of Q.



3 Pis grandmother of Q.

4. Kis granddaughter of P.

Question Number : 29 Question Id : 5861804695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A+BF HTEA BFragad
A-B# 3T g A BHF gt &
AxBa@ 3y g A BaFrRar
A+BHR AT EA BH AT
ASBFIHNTEA BT ams

T K+P+JxK-Q$SD=+T+HE
ar 575 ® HiT 7 FuT Tér g2

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. K T # @ gl

2 H, Q #r & gl

3. P, Q #raEr g

4. K, P @& 9 gl

Question Number : 30 Question Id : 5861804696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A question is given, followed by four statements labelled L. II. III and IV, each containing some information. Decide

which of the statements is/are sufficient/necessary to answer the question.

Question:
How is S related to T?
Statements:

I U is married to T.
II. T has two sons P and Q.
III. H is married to Q.
IV. S is daughter of H.

Options:
1. » Statement I and II together are sufficient.

2 Statement L, I and III together are sufficient.

3 Statement IL IIT and IV together are sufficient.

/. » Allthe statements together are necessary.

Question Number : 30 Question Id : 5861804696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T 1T goF F arg |, 1, 1l 37 IV 39 & dgd TR Fud U A0 §, 9E H FT 7 F6 ATHn
& e ¥ 9¥ FY F 9T # 3R & & AU = ¥ FiF ad suT qwa/qel i

LEC

S, T & ¥ meafod §7?

FYA:
LU Hramdr T &g 8l
ILP 3T Q T %F 3¢ &l
IlLH #r «&r Q ¥ §§ &l
V.S, H &1 34 g

Options:



1 % U= | 3R | ThaEry 93 gl

2w HUA |, 1 AT N THETT O g

3. v HUA I, Il AT IV Tware g4 g

4.« T FUT THATY TSI g

Question Number : 31 Question Id : 5861804697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘EXCEPT" is coded as 107 in a code language, how would *VERBAL’ be coded in the same code language?
Options:
1. = 99

7 % 100

3 % 101

A v 102

Question Number : 31 Question Id : 5861804697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E%Wrmmﬁ‘EXCEPT’EFTMTWWW%,Fﬁmmmﬁ‘VERBAL’aﬁwaﬁg
IETHT ILE 1

Options:

1. = 99



2 % 100

3. = 101

4. v 102

Question Number : 32 Question Id : 5861804698 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

135+ 15 %45 —810+435 =1104
Options:
1. % 435and45 +and~+

? % 45and 810, —and >

3w 435 and 135, +and —

/] « 435and 135, +and +

Question Number : 32 Question Id : 5861804698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEast AR ReE ¥ 59 gEA F ¥ FA ¥ LA A 399 U 3OF F sweAd W TF Toed A0
HHTRIOT I T H g FLM?

135 + 15 x 45 - 810 + 435 = 1104
Options:

1. % 435 3 45, + 3R +



D 45 AT 810, - 3R x

3. « 4353 135, + 3T -

4. » 435 3R 135, + 3R +

Question Number : 33 Question Id : 5861804699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of 700 students like three different flavours of ice-cream i.e. Vanilla, strawberry and chocolate. Only 19% like
all three flavours. The number of students who like any two and only two ice-cream falvours is 23% of the total
students. The number of students who like Vanilla flavor alone is 289. What is the total number of students who like
strawberry flavor alone or chocolate flavour alone?

Options:
1. = 113

7 % 115

3. v 117

A % 129

Question Number : 33 Question Id : 5861804699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el 700 BT HT HETHH & did -39 TTE - Jietar, E‘Iﬁ'ﬂ'&ﬂ?mmmc T8 &1 Thae 19% T
a‘rmfrwqamwm%lﬁaﬁmma‘rmaﬁrmmﬁm Fr TET FoT T
23% ¥ FaoT Tl TS THS I JToT BT BT HEAT 289 | Hao TIAT AT Faol Alhele THS T
3Tl BT Y FeT FEIT AT F

Options:

1. =« 113




Question Number : 34 Question Id : 5861804700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five objects P. Q, R, S and T; P is four and a half times heavier than R: S is six and half times heavier than T: Q
is two and a half times heavier than S. R is twice as heavy as S. Which of the following the statements is NOT correct?

Options:
1. » Qis 16.25 times heavier than T.

? % Ris 13 times heavier than T.
3.« Pis48.5 times heavier than T.

/. = Pis9 times heavier than S.

Question Number : 34 Question Id : 5861804700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FEgH P, QR SHRTH AP REAACIN A AT E S, TATE & N a1 &, Q, S &
a%ms:r&‘r%lR Sﬁa’rmﬂﬁr%lgﬂﬁﬁraﬂamma@raﬁr%ﬁ

Options:

1 % Q@ T & 16.25 7T & 2

9 & R T 13 I a1 &



3, P, T @485 71 &l g1

A » P S WO Y E

Question Number : 35 Question Id : 5861804701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. B says to D, ‘If you give me 5 rupees, I will
have five rupees less than A.” C says to D, ‘If I give you one rupee, I will have exactly double amount than you.” C says
to A, ‘If I give vou 8 rupees, I will have 5 rupees more than you’. If A and B together have total 86 rupees, how many
rupees does B have?

Options:
1. = 36

4 = 39

Question Number : 35 Question Id : 5861804701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR AFaar A, B, C 3k D & 91| 3efer-31eT A1 # 399 #| B, D ¥ FEaT &, I I qH
aa H’rm’wfﬁ.ﬁwmm%ﬁ?‘rt”c D'@fchsdl%‘ “Edl{ﬁamwwa H‘rgs'ﬁw

mmgﬁ?‘rICAﬁm%“m g5 8 ®UU ¥ £, & AT I 5 amar
ﬁm”aﬁAaﬁTBa—m#wm%m% r—r‘rB%qmﬁaT-lﬁﬁgﬁ%‘? 7
Options:
1. = 36



3 v 38

Question Number : 36 Question Id : 5861804702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. = Sphygmomanometer

7 w Stethoscope

3. % Thermometer

4. « Seismograph

Question Number : 36 Question Id : 5861804702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yecd 9N ¥edl H ¥ AT T Gl ¥ TAW g, Sk T 7T gl A § {AwH T4

Options:



4. v SThI-Teh TF

Question Number : 37 Question Id : 5861804703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

SRS

Options:

-2
|
b

Question Number : 37 Question Id : 5861804703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yecd IR HFaal H ¥ e UF dle d TAT ¢, ol T Aol gl 307 8§ &Owd I+

Options:




2. v 2
3. = 3
4. = 4

Question Number : 38 Question Id : 5861804704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

18, 19, 19, 21, 2, 45
Options:
1. = 36

4 v 42

Question Number : 38 Question Id : 5861804704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ faeT I S g@er # g7 ey (7) & wé ¥ giaaia s

18, 19, 19, 21, ?, 45

Options:



2w 38
3. = 40
4, » 42

Question Number : 39 Question Id : 5861804705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

73,70 90,120, 7
Options:
1. = 185

7 % 186

3.« 187

A % 188

Question Number : 39 Question Id : 5861804705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ faeT I S g@er # g7 ey (7) & wé ¥ giaaia s

75; 79,90, 120, 2

Options:



1. « 185

2 % 186
3 » 187
4 « 188

Question Number : 40 Question Id : 5861804706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

235,276, 335,423, 3552,

Options:

Question Number : 40 Question Id : 5861804706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7¢ feT I St g@er # W foeg (7) #F wEr ¥ Siowta weEm|

235, 276, 335, 423, 552, ?

Options:



1. « 655

2 x 866
3 % 718
4. v 735

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Awarenessi

3
586180224
0

0
No
No
0
20
No
Yes
0

0

General Awarenessi

Section Id : 586180228

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 586180315

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 5861804707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What percentage of the energy of sunlight is captured by
green plants?

Options:

1. v 1to 2 percent
2. % 3104 percent
3. = 510 6 percent
4. = 710 8 percent

Question Number : 41 Question Id : 5861804707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gy T SERT G TRTeT & Tohclel il $1ET T T80T fomam
ST 87

Options:

1. v 1 & 2 gfaera
2. = 38 4 yfayd
3. = 58 6 gidera
4. = 7 & 8 yfaerd

Question Number : 42 Question Id : 5861804708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the State of Forest Report, 2017, which of the following
states has registered the second largest growth in its forest
cover?

Options:

1. v Karnataka
2. » Kerala
3. = Odisha
4. = Telangana



Question Number : 42 Question Id : 5861804708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ge e 2017 & @R, farfai@d 7 @ fhg Tog o 30
sTeoTed &7 H gEdl e 997 gig gof #r &7

Options:

1. v Thallceh
2. = hidl

3. = 3fIfserm
4. = JoTaTaT

Question Number : 43 Question Id : 5861804709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the India State of Forest Report, 2017, which of the
following statements is NOT correct?

Options:

1. = India’s tree and forest cover registered an increase of
1% in the last two years.

2. = Combined forest and tree cover in the country is 24.39%
of the total geographical area.

3. = Very dense forest in India increased by 1.36%.

4. v Arunachal Pradesh was the biggest gainer in terms of
forest cover since 2015.

Question Number : 43 Question Id : 5861804709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR g et ROE 2017 & 3R, foest & & hia @
el eI o8l 87

Options:

1.« 8IRA & J& 3N Ia7 eoifed &7 & foran # N ar
ast # 1% gi& aor @1 TS




2. = T A Tl 3T F&T FT TYF IMeoTied & Fel siaforh
&A%l FT 24.39% Tl

3. » 9T A 3T gel ST H 1.36% H1 I &S

4. v 2015 @ 379 I HATYh do edled 87 & [Edr
IEOTRIT Wl | g3

Question Number : 44 Question Id : 5861804710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following terms refers to potherb cultivation?

Options:

1. v Olericulture
2. » Sericulture
3. * Pomology

4. » Herbiculture

Question Number : 44 Question Id : 5861804710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeEaa & @ Fid A7 a5 eI 3cUreeh (dicas) Bdr &l
Tefdfd +ar &7

Options:

1. v ATH-FV (TR The)

2. % MA-3cUEd (The?)
3. * Welshy (TTHATII)

4. = 3CAHN (Felhed)

Question Number : 45 Question Id : 5861804711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeg Taellaar (3ifesH) SAITwRkRdr Kad I HeITAT ST

&

Options:



v 2 370
x 2 AR
2 Ty
x 2 Sleladl

Question Number : 45 Question Id : 5861804711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

World Autism Awareness Day is celebrated on:

Options:

1. v April 2
2. » March 2
3. = February 2

ol
#®

4. % January 2

Question Number : 46 Question Id : 5861804712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Turmeric grown in regions enjoys the Geographical
Indication tag.

Options:

1. v+ Kandhamal and Erode
2. = Erode and Kullu

3. » Sangli and Alleppey

4. » Kandhamal and Coorg

Question Number : 46 Question Id : 5861804712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& # 39S ST aTell &cal ol Hidlifeleh Tehed
(Sarantherer STEhereT &a1) ued &l

Options:

1. v ®IATT 3T U3




2. » TS 3T Foql
3. = HETel 3T 3feeltdr
4. » FYATS 3T et

Question Number : 47 Question Id : 5861804713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

launched the world’s first nationwide 5G mobile
networks.

Options:

1. » USA

2. v South Korea
3. = Japan

4. = China

Question Number : 47 Question Id : 5861804713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

_ o gfear T ygelm Uegeardr 5G AlSTSel deds dled
feRa|

Options:

1. « quEw

2. v EI&or IR
3. = SITel

4, % Tl

Question Number : 48 Question Id : 5861804714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Recently, India signed an MoU for setting up the India-Africa

Institute of Agriculture and Rural Development (IAIARD) in
Malawi. The primary aim of the institute is to:

Options:

1. = promote cultivation of draught resistance crops.



2. = promote research for high yield seeds without modifying
their genes.

3. = promote research in pest-resistant seeds.

4. v enhance capacity in the areas of agro-financing and
entrepreneurship development.

Question Number : 48 Question Id : 5861804714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl 81 H, ¥ of Helldl H HNA-37WhIRT ¥ 31T araAtor
g gTare (IAIARD) &1 Tamver & foIw ve gasiar ame
9T gEATEY fohT| GEATel T UTAfAS 35227 g

Options:

1. » g@ viaaess Baell 6T BT T Fgar SaTg@r qioliash
W hl Tl I F&raT ol

2. = Silel URade v §aT 3= Ug@Er aret Seil & v
TN T SGraT el

3. * hre-afaQrdy ISl & HTEUTT I Ferar a7l

4. v FN-fdeadivor 3R sIATT e & &5 # &TAar
Haefel el

Question Number : 49 Question Id : 5861804715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following nobles of Alauddin Khalji captured the
Mongol commanders All Beg and Tartaq?

Options:

1. v Malik Nayak
2. » Malik Kafoor
3. = Ghazi Malik
4. = Zatar Khan



Question Number : 49 Question Id : 5861804715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fiFalelf@d H & 3Te3cale erell & Tohd Aamdfad o Hdlel
FHATSI 3ol ST AT TdTeh I Thar?

Options:

1. v ATk ATTF

2. = HAfolh FIE
3. = 3JTaT ATk
4.

® oliipd dld

Question Number : 50 Question Id : 5861804716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Ashokan pillars carries seven edicts?

Options:

1. » Lauriya-Araraj pillar
2. v Delhi-Topra pillar

3. = Allahabad pillar

4. = Ramapurva pillar

Question Number : 50 Question Id : 5861804716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Trafe@a & & TFg 37 Ta9 & 91T TeTAe & 715 87

Options:

1. = SRAT-3RTT=T T
2. v [Eooll-aIT &aH

3. % STEEIG TaH

4. = A T

Question Number : 51 Question Id : 5861804717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In which year was the forest department established by the
colonial government in India?

Options:

1.~ 1864
2. % 1865
3. = 1866
4. = 1869

Question Number : 51 Question Id : 5861804717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H 3Hleidersh SYhN SaNT gl HET fohg gy sUmud
TR o am?

Options:

1. v 1864
2. = 1865
3. = 1866
4. = 1869

Question Number : 52 Question Id : 5861804718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term Nirgrantha is associated with :

Options:

1. = Ajivikas

2. v Jainas

3. = Pasupatas
4. » Charvakas

Question Number : 52 Question Id : 5861804718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey o o TEraaT &l

Options:



1. = 3TSiTgeh!
2. v Sl
3. = ATRMUar
4. % TTAThI

Question Number : 53 Question Id : 5861804719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article of the Constitution empowers the Election
Commission of India to supervise elections to the Parliament
and state legislature.

Options:

1. = 224
2. % 242
3.v324
4. % 342

Question Number : 53 Question Id : 5861804719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HiAHTel T 37e]oq W o Taltd RN T T 3N
Ty TAUTeTdeT & Teardl & GAAETT Filal HT HTART T &

Options:

1. = 224
2. % 242
3. v 324
4. = 342

Question Number : 54 Question Id : 5861804720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Department of Justice of the Government of India
recently launched a mobile app named to boost legal
advice and aid in the country.

Options:

1. » Nyaya

2. * Nyaya Mitra
3. = Mera Nyaya

4. v Nyaya Bandhu

Question Number : 54 Question Id : 5861804720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g &l H, I8 N & AT [aHer o ATH Teh

AlSTSel UF olied fhaT, ST 327 H Hiefell Hellg 3N FFRIT ]
T e & folv B

Options:

1.« =g
2. » O AT
3. x AT O
4.JF€IT€I'EI""¢£

Question Number : 55 Question Id : 5861804721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Recently, the state of Andhra Pradesh got a separate High
Court. With this, the total number of high courts in the
country stands at:

Options:

1. = 24
2.v 25
3. % 26



4. % 27

Question Number : 55 Question Id : 5861804721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

grel 81 H, 3¢ 93eT Tod H U Y2k 3 Ao T
foram araT| sEek ATy, U A 3T TGOl R Fel TEAT

L]

1. = 24
2. v 25
3. = 26
4. = 27

Question Number : 56 Question Id : 5861804722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following articles of the Indian Constitution
directs the state to ensure Access to Justice for all?

Options:

1.~ 39A
2. % 44A
3. %45
4. = 46

Question Number : 56 Question Id : 5861804722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFTaTel®T & @ ARAT GTdYTeT R <hiel &I 31331936‘ 75T Y
Tl & U s s Forerdr GlafRera wTat w1 ferder 2ar g7

Options:

1. v 39A
2. = 44A




3. = 45
4. = 46

Question Number : 57 Question Id : 5861804723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the prescribed ratio of the length to the height (width) of the Indian national flag?
Options:
1. 5 2:3

-2

2. 3

Question Number : 57 Question Id : 5861804723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TET eaa & Fars (disrs) AR oas & foeifa segora =+ 22

Options:

1. = 2:3
2. v 3:2
3 ox 2:4
4 = 4:2

Question Number : 58 Question Id : 5861804724 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which of the following parts of the constitution is entitled
Emergency Provisions?

Options:

1. = XVI
2. % XVII
3. v XVIII
4. % XIX

Question Number : 58 Question Id : 5861804724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTaTeT T TaFatoliEdd H O hied AT HIT 3TUTdhTelleT WTTeITal
o aefaa &7

Options:

1. = XVI
2. = XVII
3. v XVI
4. = XIX

Question Number : 59 Question Id : 5861804725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Indian wrestler, Bajrang Punia recently regained the world
number one spot in the men’s category by United World
Wrestling.

Options:

1. v 65 kg freestyle
2. = 67 kg Greco-Roman
3. = 70 kg freestyle
4. = 72 kg Greco-Roman

Question Number : 59 Question Id : 5861804725 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

AT Tgeldlel, ST YT o glel 81 H A3 des Idfeldl
H gEST U 7 [ded & UUH TATH e R

1. v 65 Tohell hIEaTSd
2. » 67 Tohell IeRI-UHT

3. = 70 ToRell WIEcSo
4. = 72 TRl IMRI-UHT

Question Number : 60 Question Id : 5861804726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who from among the following won the Formula 1 Bahrain
Grand Prix tournament 2019?

Options:

1. = Charles Leclerc
2. = Valtteri Bottas
3. v Lewis Hamilton

4. » Max Verstappen

Question Number : 60 Question Id : 5861804726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et # & Tordal wiHen 1 sgdls IS U ¢etAee 2019 Siar?

Options:

1. » TTeH oleFoleh
2. = Glecdl Se™
3.%@%}?%‘@@
4. = Hog ATEEA

General Awareness?2



Group Number : 4
Group Id : 586180225
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness2

Section Id : 586180229

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section Id: 586180316
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861804727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Amit Panghal who won a gold medal for India in the Asian
Games 2018 belongs to:

Options:

1. v boxing
2. » judo

3. = shooting
4. = shot put

Question Number : 61 Question Id : 5861804727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TfeTS Wl 2018 # WRA & folv ¥guT Ugeh Sildel arel 3R
el o @afad &

Options:




ﬁﬂm\__xﬁ'
* ST
IGHIGEIS

x 3T theh (A€ Ie)

ol
#®

Question Number : 62 Question Id : 5861804728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT inscribed on UNESCO’s
Representative List of the Intangible Cultural Heritage of
Humanity?

Options:

1. = Chhau dance
2. = Tradition of Vedic chanting

3. = Kutiyattam, Sanskrit theatre
4. v Shabad keertan

Question Number : 62 Question Id : 5861804728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToleaT # & iel, AlTadl T 3HT HEHicTeh TUGT T Faeeh!
1 ufafafdr g@r # aftta &6 87

Options:

1. » BF o
2. » JfdF ANTAROT hT YL

3. * FfeACCH, TEHA wATcH

4. v 916 hidd

Question Number : 63 Question Id : 5861804729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhavali, a traditional theatre form, belongs to which of the
following states?



Options:

1. v Gujarat
2. = Punjab
3. = Uttarakhand
4. » Odisha

Question Number : 63 Question Id : 5861804729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS, Uoh URUNH AT &7 &, I§ dedlalidd # & T T
g gerad g

Options:
1. v mr—ra
x ToITE

2.
3. % 3cadI@s
4. = 3T

Question Number : 64 Question Id : 5861804730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following states has recently received the
Geographical Indication (GI) tag for the product called
Giraful?

Options:

1. = Jharkhand
2. v Chattisgarh
3. = Odisha

4. = West Bengal

Question Number : 64 Question Id : 5861804730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

grel o #, e 7 & o5 Uo7 o SIRG (Giraful) sTTHS
3cqTE o Tl oEnThehel Sfghere (GI) &1 ureq Ram?



Options:
1. » SINES

2. v ScdldIG

3. » 3fifSem

4. = gieTgd 9Tl

Question Number : 65 Question Id : 5861804731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following rivers forms the Jog Falls?

Options:

1. v Sharavathi
2. = Paravathi

3. » Ghataprabha
4. = Malaprabha

Question Number : 65 Question Id : 5861804731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeaa & & FiaT &7 J¢r ST TATITT STar 87

Options:

1. v ARIEAr
2. % giddr
3. = HTCHHAT
4, = FHITHT

Question Number : 66 Question Id : 5861804732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following passes is NOT located in the
Himalayan ranges?

Options:

1. v Bolan Pass
2. « Nathu La



3. » Shipki La
4, = LLacha La

Question Number : 66 Question Id : 5861804732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaf@a & O sia a1 <7 BAETew ydaaTer A Bua 781 &7

Options:

1. v Slele &7
2.%F'IT3-£(_>IT
3. = IRt @
4, = ST o

Question Number : 67 Question Id : 5861804733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a desert river?

Options:

1. = Luni

2. » Machhu
3. = Rupen
4. v Mahi

Question Number : 67 Question Id : 5861804733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fraflfEd # & Sl @7 AFEUT olal gl §7

Options:

1. = ofal

o,

2. % HII
o,

3. = ®qUT
4. v AT

Question Number : 68 Question Id : 5861804734 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which of the following banks has the tagline ‘Aapka Bank
Aapke Dwaar’?

Options:

1. v India Post Payments Bank
2. » IDBI Bank

3. = State Bank of India

4. = Canara Bank

Question Number : 68 Question Id : 5861804734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeafaa & & frg o &1 ararrge 'HIehT dh 39 @’
&7

1. v ST G titew &%
2.« IEEIE I
3. *» IR BT &+

4. % heldlT &

Question Number : 69 Question Id : 5861804735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who of the following headed the committee to review the
existing SEZ policy of India submitted in 20187

Options:

1. = Rajat Monga
2. v Baba Kalyani
3. » Deepak Parekh
4, » Madhu Kapoor

Question Number : 69 Question Id : 5861804735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fodet & @ Tohaet, 2018 # UEdd #IRA T TAATT TGRIY e
&1 (SEZ) siifar <hr Feivem |fATT 1 sredsrar 7

Options:

1. % TSI AL
2. v STET HedToir
3. » QU URE
4. » Y TR

Question Number : 70 Question Id : 5861804736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rana Kapoor recently demitted the post of MD and CEO of:

Options:

1. v Yes Bank

2. » Indusind Bank
3. = AXis Bank

4. = IDBI Bank

Question Number : 70 Question Id : 5861804736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl &1 H, O FIT o % ST TTeldh (VAT 3R 7
FRIFRT TIFRT (FE3N) & ug T STIHT o= &)

Options:

1. v I d&

2. = S3HIS d&

3. = UlorEd &

4, = FHESEHE S

Question Number : 71 Question Id : 5861804737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An enzyme called Ptyalin is secreted by:



Options:

1. v salivary gland
2. = gastric gland

3. # pancreas

4. = Intestinal gland

Question Number : 71 Question Id : 5861804737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el (Ptyalin) sTTH+ USISH ZaNT Arfad gidr &l

Options:

1. v R AT
2. = S&T A
3. * 3T
4. = 3T 1 FIT

Question Number : 72 Question Id : 5861804738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following organs of the human body produce
urea?

Options:

1. = Kidney

2. v Liver

3. = Pancreas

4. = Large intestine

Question Number : 72 Question Id : 5861804738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feITelT=T # & ARG R H Sie AT 377 IRAT ScToel Hcl

Options:

1.« o



2.&?3%’
3. = 3IgrerT
4. = &7 3T

Question Number : 73 Question Id : 5861804739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following organs in the human body
secretes bile, a digestive fluid?

Options:

1. = Stomach

2. = Pancreas

3. v Liver

4. » Small intestine

Question Number : 73 Question Id : 5861804739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feTel@a A & AT R # S 1 397 Ncdid STHF
Uik gd Rl HIad hldl &7

Options:

1. = FHTHATT

2. % 3T
3.&?3%’
4. » BT 3T

Question Number : 74 Question Id : 5861804740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Salivary amylase, which is contained in saliva, digests
and converts it into maltose (disaccharide).

Options:

1. = fat



2. v starch
3. = protein
4. = vitamin

Question Number : 74 Question Id : 5861804740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R H 9T SATdrel Tersadl Uiderel S AT &,31%
=8 Hleclol (ST3aTss) H gRafdd 3ar &

Options:

1. = gdr
2. v T
3. % A&
4, = fqerfae

Question Number : 75 Question Id : 5861804741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Curcumin, a phenolic compound widely used for medicinal
purposes is found in:

Options:

1. v turmeric

2. = ginger

3. » black pepper
4. » tamarind

Question Number : 75 Question Id : 5861804741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YA RS & TOIT SATIsh 3UAET TRAT SATer arell hieliTelsh
iR A H U= SATAT &

Options:

1. v &edl




2. = 3¢T
3. = orell TAT

4. = A

Question Number : 76 Question Id : 5861804742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GROWTH-India, India’s first robotic telescope is located at:

Options:

1. » Kodaikanal

2. = Mt. Abu

3. » Kavalur Alangayam
4. v Hanle

Question Number : 76 Question Id : 5861804742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HNT T Tgell Usifeeh graell arer-gfeam 7 T gl

Options:

1. % HISShalldl

« HI3C 31T

2.
3. = FIeR 3TelITTA
4. v galol

Question Number : 77 Question Id : 5861804743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the world’s largest brain-like
supercomputer?

Options:

1. v SpiNNaker
2. » Tianhe-3
3. = Titan-2



4, = Summit

Question Number : 77 Question Id : 5861804743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

felaT T T §8T ATEASh ST FOThtged sl T &7

Options:

1. v 9aasT (SpiNNaker)
2« RTe-3 (Tianhe-3)
3.« TEEe-2 (Titan-2)

4, = FAC (Summit)

Question Number : 78 Question Id : 5861804744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Central Zonal Bench of National Green Tribunal is located
at:

Options:

1. v Bhopal
2. » Jabalpur
3. » Gwalior
4. » Indore

Question Number : 78 Question Id : 5861804744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

steretel el feegatel T AeT &9 4o H ua gl

Options:

1. v &gTeT
2.*33?%’{
3. % gAY
4 - B

Question Number : 79 Question Id : 5861804745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Indira Gandhi Centre for Atomic Research is located at:

Options:

1. = Narora

2. v Kalapakkam
3. » Trombay

4. » Rawatbhata

Question Number : 79 Question Id : 5861804745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e IMeT TTHT] STefHeTel o, 7 T gl
1

2. ¢ SholderehH

3.« e

4., = JTddHTC

Question Number : 80 Question Id : 5861804746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the Child Rights Week that was
celebrated from 16 to 20 November 20177

Options:

1. v Hausla 2017

2. = Samriddhi, 2017
3. » Hunar, 2017

4. = Samarth, 2017

Question Number : 80 Question Id : 5861804746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

16 & 20 dge¥ 2017 deh AT ST drel el HTURR Tdlg
T ATH FIT &7

Options:




N,

. v Biger 2017
. = gHlE, 2017

gely, 2017
. % FHAY, 2017

#®

®

AW N o
4

Arithmetic Ability1

Group Number : 5
Group Id: 586180226
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 586180230

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180317
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861804747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

0.25—-0.5 % 0.8+0.64

0.512+0.125
Options:



10
2. v 13

Question Number : 81 Question Id : 5861804747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl Y
0.25—0.5 x 0.8+ 0.64
0.512+ 0.125
Options:
x
1. % 13
10
2. v 13
2

Question Number : 82 Question Id : 5861804748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1 1 1 1 i
The sum of the first 24 terms of + +—4+ — + g R ()
3x2 Ix=4 4%5 Sx6 6x7




Options:

6
1.+ 13
5
? % 13
3. % 21
1
4 = 26

Question Number : 82 Question Id : 5861804748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L+ 4+ 1+ _F Uge 24 TS F TN F AT AT F

3x2 34 4x5 5X6 6X7
Options:
6
1. v 13
h
2 = 13
3.% 21
1
4 = 26

Question Number : 83 Question Id : 5861804749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Evaluate:

565x565x565+3.35x3.35x3.35
565 x 565+ 335x335—565x 335

Options:
1. = 09

7 % 0.09

3. % 0.009

A, » 0.0009

Question Number : 83 Question Id : 5861804749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FL

ROGOHX5ERY % 5654335 %335 %335
565 x 565+ 335x 335 —-565x% 335

Options:
1. = 0.9
2 % 0.09
3 % 0.009
4. «~ 0.0009

Question Number : 84 Question Id : 5861804750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Evaluate:

0.0203x29.2
0.00073x14.5%14

Options:
1. = 04

7 s 0.04

3.v 4

A4 = 40

Question Number : 84 Question Id : 5861804750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g?»rﬁ:

0.0203x2%.2
0.00073x14.5x14

Options:

1. = 04
2.« 0.04
3. v 4
4 = 40

Question Number : 85 Question Id : 5861804751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Evaluate:

2.493 + 0.2493 + 0.02493 + 0.002493
Options:

1. % 2.744793
7 @ 2.769723
3 % 2.7449733

A % 2.7347933

Question Number : 85 Question Id : 5861804751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g?»rﬁ:

2.493 + 0.2493 + 0.02493 + 0.002493

Options:

1. = 2.744793

2 o 2.769723

3. % 2.7449733

4. % 2.7347933

Question Number : 86 Question Id : 5861804752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the simplified value Gfi {(20.05)* — (19.95)?}?



Options:
1.+ 1

I

2. %

a2
®
[
N

Question Number : 86 Question Id : 5861804752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i{(20.05312—::19.95)2} T TN AT AT L

Options:

1. v 1

2 = 2

Question Number : 87 Question Id : 5861804753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 10
= 0.2146, what will be the value of ——?
4,659 0.0004659

Given that

Options:
1. = 21.46



7 % 2146
3. % 2146

A » 21460

Question Number : 87 Question Id : 5861804753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uﬁﬁ:n.zmﬁﬁ. ar —°2 7 7T AT B

0.0004659
Options:
1. = 21.46
2 % 2146
3w 2146
4. « 21460

Question Number : 88 Question Id : 5861804754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:
77
8.2+ ——
1+ T
A
Options:

1. % 9.25



? % -11.75

3 v 13.15

A % 1325

Question Number : 88 Question Id : 5861804754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl Y

i L
1+3-L

Options:

1. = 9.25

2 % -11.75

3. v 13.15

4. = 13.25

Question Number : 89 Question Id : 5861804755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:
1.z
8+ 8x 25 L
-—3
6_—
=]

Options:



1
7 % 2
3. v 12

1

Question Number : 89 Question Id : 5861804755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bﬁﬁ:

8+ 8 x5 7
C g
SEF
Options:
1. = 2
L
7 % 2
3. v 12
1

Question Number : 90 Question Id : 5861804756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 . 1 1 £
A man spends - of his salary on food and s onrent - of the remaining amount he spends on conveyance. After
b= ps J

considering these expenditures, what is his salary (in 3)?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 12665.25

Question Number : 90 Question Id : 5861804756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T eOfRd U HNTHET #7 - fRear st o 3 - Rear BT 9T @ #3ar §1 9 9w afdr @&
ﬁmﬁmﬁwwmﬁlgﬂwﬁmwmmﬁﬁ(ﬂs #) gar 1?2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

|

Options:
1. 12665.25
2 12656.25
3. 12652.25
4. 12556.25

Question Number : 91 Question Id : 5861804757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A rectangular courtyard 30.34 m long and 8.61 m wide is to be paved exactly with only square tiles, all having the same

size. What is the largest size (in cm? ) of the tile that could be used for this purpose?

Options:



7 % 36
3 % 35
4 = 17

Question Number : 91 Question Id : 5861804757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HFAHR A Tome oes 30.34 m 3R g 3R 8.61 m § 3R =¥ v & 3R Tl SR
T T YT [T ST B 57 SO & fOIT 39T i I G I SIS T T9d 987 M (

cm? H) AT FII
Options:

1. v 4

2 % 36
3 % 35
4 = 17

Question Number : 92 Question Id : 5861804758 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the least number that should be added to 2018 such that the resulting number can be divided
by 3, 4, 5 and 12 leaving no remainder.

Options:
1. = 28



Question Number : 92 Question Id : 5861804758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FH AT NN TR O FEm f B 2018 AT W, A G A 3, 4, 533 12 ®
freanfoa =t W A AW 7 F9r B

Options:

1. = 28
2 = 38
3. v 22
4. = 34

Question Number : 93 Question Id : 5861804759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A farmer has some unutilised field at her disposal, where she plans to plant some trees. She plants 176 guava trees, 132
papava trees and 264 sugarcane trees in equal rows such that each row has same number trees. Also. she wants to make
distinct rows of trees, that is, only one type of tree in one row. The minimum number of such rows that can be formed
is:

Options:

1. = 11

2. v 13



3. % 22

Question Number : 93 Question Id : 5861804759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WW#WWWW@%@TR 2T 384 ?wﬁ?mdu%#u\mmﬂ?@%‘[mm
% 176 U8, 990 & 132 U5 3R 9 & 264 U5 THF IFdar H $H Rg o0 § F gode ufea H
FAT FET & 9T & Wy &, a8 UST ¥ FAT-3799T Iaadr 37 N & ST e & owy el
99T # F9 TF & TFR F 9T [ 8 9GT F{ Fr 57 T8 FH T F7 Faar ot 9 51 w5 2

Options:

1 = 11
2. v 13
3 & 22
4. % 44

Question Number : 94 Question Id : 5861804760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. : 1 2 3 , i
Three numbers are in the proportion, SR T The difference between the greatest and the smallest numbers is 48.
Find the sum of all the numbers.

Options:
1. « 368



3. % 414

A = 437

Question Number : 94 Question Id : 5861804760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mmﬁg:g&:;#mﬁﬁum@mmmmmﬁmmmmmm
FEATAHT FT T AT FL

Options:
1. « 368
2 % 322
3. % 414
4. = 437

Question Number : 95 Question Id : 5861804761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seema scored twice as many marks in Science as in English. Her total marks in English, Science and Mathematics is
240. If the ratio of her marks in Mathematics and Science is 3 ¢ 2, what are her marks in English?

Options:
1. v 40

7 % 60

3 % 80



A % 120

Question Number : 95 Question Id : 5861804761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 7 3RS Fr g # T 7 IR e grea Fwl 3@F 301, fEw d@i a1fte F go aew
240 g1 3fg 71fta A Bae & 38% 3@ F1 3gaa 3 ¢ 2 7, a9 & 3Ea Eeh A e i
g &e?

Options:

1. v 40
7 % 60
3. = 80
4 % 120

Question Number : 96 Question Id : 5861804762 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In an examination, 45% of the students failed in Mathematics and 34% failed in English. If 23% of the students failed in
both the subjects, then the percentage of students who passed in both the subjects is:

Options:

1. & 56%
? % 35%
3 % 65%

4. v 4%



Question Number : 96 Question Id : 5861804762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE GUAT H, 45% OTF 0T A AR 34% RN F Aeaor W AR 23% o7 AT vt F srgecior
W} £ a9 &Y & g et fAwat & gfoeg oy 30T ® 2

Options:
1. % 56%
2 % 35%
3. % 65%
4. v 44%

Question Number : 97 Question Id : 5861804763 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In a city, 45% of the population is composed of migrants, 20% of whom are from rural areas. Among the non-migrants,
48% are female. The female population from among the rural and urban migrants are 30% and 40% respectively. If the
total population of the city is 728400, what is the total female population?

Options:
1. v 316854

7 % 316767
3. % 316680
A % 316506

Question Number : 97 Question Id : 5861804763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TH R H, T FAEET H 45% FAEr T §, o § 20% AT e ¥ §) R-vanfaar &, 48%
Afgeme §1 THOT AR Rl yanfEdt 7 Afger FEam A 30% HX 40% g1 I wew r For FewEar
728400 ¥, ar Afgemat #r o wEAr 79 F

Options:

1. «» 316854

2 % 316767
3. % 316680
4. = 316506

Question Number : 98 Question Id : 5861804764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of an article was increased two times successively by 18% each time. By what percentage should the new
price be reduced so as to restore the original price (correct to two decimal places)?

Options:
1. % 26.54%

7P % 25.48%

3. % 23.18%

A » 28.18%

Question Number : 98 Question Id : 5861804764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

U ITI F Hed 1 18% HI i ¥ TR & aR ST A g A AC Hed I HT Hed (& guHed
T % T 78 7% o= & o e sfara @ war fr S afge?

Options:



1. = 26.54%

2w 25.48%

3. % 23.18%

4. < 28.18%

Question Number : 99 Question Id : 5861804765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The average of 29 numbers is 80. The average of first 15 numbers is 75 and the average of last 15 numbers is 84, If the

15" number is excluded, what is the average of the remaining numbers (correct to one decimal place)?
Options:
1. = 815

7« 805

3 % 825

A % 809

Question Number : 99 Question Id : 5861804765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

29 FEATHT 1 Hga 80 g1 Tger 15 FEarst =7 3itwa 75 § 3T 337 15 gt = e 84 g1 3fy
1587 FEar #r T feor =, ar 9u et 7 e (TF SaHeT T J% ") AT FL
Options:

1. = 815




2. v 805

3. % 825

4. = 809

Question Number : 100 Question Id : 5861804766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The average weight of a group of 8 girls is 52 kg. If 2 girls, R and S, replace P and Q, the new average weight becomes

50 kg. The weight of P is equal to Weight of Q and the weight of R is equal to weight of S. Another girl T is included in
the new group and the new average weight becomes 50 kg. weight of T is equal to weight of R. What is the weight of Q
(in kg)?

Options:

1. = 56

4 = 350

Question Number : 100 Question Id : 5861804766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 wrsforal AT T WHE # Jtea a9 52 kg g1 Ife 2 @EfFam, R 3l S, P 3k Q @ s o A §,
ar #ar 3itea 917 50 kg &Y AT &I P FHT 937 Q & s ¢ 3 R & 94 S &F G g1 TF 37T
TR TH AT T & AT o A g AR A T aew 50 kg @ AT El T A ISA R &
I &1 Q F1 I9 (kg F) 79 FL

Options:

1. = 56



3. v 58
4 = 50
Arithmetic Ability2
Group Number : 6
Group Id: 586180227
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 586180231
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 586180318
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861804767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the selling price of 50 articles is equal to the cost price of 42 articles, the approximate loss or gain percentage is:

Options:



1. « 16% loss

? % 19% loss

3 x 21% gain

4], » 16% gain

Question Number : 101 Question Id : 5861804767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE 50 Ixgat 1 Fefr Fow 42 TEga F FT AT & WK ¢, A AT @ifer a1 a0 Jfcerd #
AT F
Options:

1 o 16% @

2w 19% @

3w 21% &H

4. = 16% #H

Question Number : 102 Question Id : 5861804768 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper earns a profit of 20% after selling a book at 13% discount on the printed price. The ratio of the cost price
and the printed price of the book is:

Options:
1. = 11: 87



7 29: 40

3 % 31:57

4 % 10: 11

Question Number : 102 Question Id : 5861804768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U gFACR Afdhd Hed T 13% HT §T T Tead 99 X 20% FM A1 FAA g1 I&ds & FT Hod
3 3T Hrm F anEE Aa #

Options:

1 % 11:87
2. v 29:40
9 x 3057
A % 10:11

Question Number : 103 Question Id : 5861804769 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The cost of a brand of tea got raised by 12% per kg due to escalation in price index and by another 8% per kg due to
increase in taxes. A consumer could manage to increase his expenditure on tea only by 10%. By what percentage
(nearest to one decimal place) should he reduce his consumption so as to be able to manage the tea purchase by
spending only 10% more than previous?

Options:
1. ¢« 9.1%

? % 9.3%



3. % 10.4%

A = 10.8%

Question Number : 103 Question Id : 5861804769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T s AR F IO IT F I F A T 2% I kg IR IR A AR+
FROT 8% Ffl kg 1 AR & g1 T IWAFAT T W Fael 10% AR AT T F Fhal g A T
F F 38 39l Tud foras gfoRia (U qesea T & F09) F7 Fe g0 aifes Tget HT Jerer A
FaeT 10% FAET T Hh AT TG Th?

Options:
1. ¢ 9.1%
2 % 9.3%
3 % 10.4%
A % 10.8%

Question Number : 104 Question Id : 5861804770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person bought a new machine for 35% discount. If he were not to get anv discount, then he would have had to pay <
224 more. How much did he pay for the machine (in 3)?

Options:
1. v 416

? % 640



3. % 864

A = 224

Question Number : 104 Question Id : 5861804770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF FT o 35% [T W TF A3 AW @i IR 37 Fg o 7@ Fed, O 30 T 224 F #f0
ST e 98Tl af uar ¢ o 30 7l & v fegar spram @ #A) e

Options:

1. v 416
2w 640
3. % 864
4 = 224

Question Number : 105 Question Id : 5861804771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
While buying a laptop, when payment is made online, discount offered is 10%. Additional discount of 5% is given to

credit card holders. Ram buys a laptop of ¥ 30000 by paying online and pays through his credit card. How much does he
need to pay (in I)?

Options:
1. & 23500

7« 25650

3. % 15000



A % 10825

Question Number : 105 Question Id : 5861804771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AENT BT THY, HAASA A HA R 10% $T T & A1 g1 HET FE URH FF 5% H
Ffalea g & ST §1 TH HFesa WIEenT &, A Hie FE & ATH F 7= 3 < 30000
FT oI T gl @ Tar #¢ & 3u fraer apaw @ &) G

Options:
1. = 23500
2. « 25650
3. = 15000
4. = 10825

Question Number : 106 Question Id : 5861804772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: . " - i i . : i .
In 10 years, the simple interest on certain sum of money is P of the principal. The annual rate of interest is:

Options:
1. = 3%

7  4.5%



Question Number : 106 Question Id : 5861804772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10aﬁﬁ,wﬁﬁaﬁrﬁwmmwm% & STee| Al =T e AT FL

Options:

1. = 3%

2. v 45%
3. % 3.75%
4 = 4%

Question Number : 107 Question 1d : 5861804773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A man earns 6% per annum at simple interest on his deposits in Bank A, while he earns 8% per annum simple interest

on his deposits in Bank B. If the total interest he earns is ¥ 18000 in three vears on an investment of ¥ 90000, what is the
amount (in ) invested at 8 %7

Options:
1. ¢« 30000

7 % 60000

3. % 18000

A, % 54000

Question Number : 107 Question Id : 5861804773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



UF OfaT &F A F 3194T AT T W 6% FfEaY Y aT ¥ WURUT s AT T &, 9 a7 &%
B # 39 STAT TR 9T 8% Uiaay Fr a&T & AR = HiSd FLar g1 IfE Ig a9 aut # T 90000
& foder 9T Fer T 18000 ==t AT AT §, @ TaT F 30 8% X W faaeh ufr @ A) # FAw
T

Options:
1. « 30000
2 % 60000
3 % 18000
A % 54000

Question Number : 108 Question Id : 5861804774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arun took a loan of € 25000 with simple interest for as many vears as the rate of interest. If he paid ¥ 16000 as interest
at the end of the loan period, what was the rate percentage of interest per annum?

Options:
1.~ 8

4 = 4

Question Number : 108 Question Id : 5861804774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIOT o SO ST & &Y & I8 & oIl Fmor s 9¥ T 25000 &7 For foran| Ife 39 Hor 3afer
% 3T H S F T H T 16000 F 7AW AT §, o AT A & I B



Options:

1. v 8

Question Number : 109 Question Id : 5861804775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money lent at compound interest for 2 years at 20% per annum would fetch ¥ 602.5 more, if the interest was
payable half yearly than if it was payable annually. The sum (in J) is:

Options:
1. = 10000

7 & 25000

3 % 20000

A % 15000

Question Number : 109 Question Id : 5861804775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

te AT offr # 20% a1f¥e whgfe s e W 2 9% & fAv 3uR &3 W T 602.5 3% grq 2
¥ IR e & wiaey &7 s Foaw gan o @ F) gar #3

Options:

1. %= 10000



2.« 25000

3. % 20000

4. % 15000

Question Number : 110 Question Id : 5861804776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A financial house gives compound interest on investment at a given rate. A principal of ¥ 50,000 when invested for 7
years, grows by 127.69% times more than to what it would have grown in 5 years. What would be the amount (in ¥) to
which this money would have grown in two years?

Options:
1. v 63845

7P % 62576

3 % 62084

A % 61835

Question Number : 110 Question Id : 5861804776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Te e TR RRET @ @ v aw 9w W awgfe e &ar g1 919 T 50,000 FoAES 7 Fut
& T Ty 5T smar €, & a8 5 Tut & O TR == Eﬁ'gﬁﬁl F 127.69% =IET & JaT g1 ar
aaT T e Jgerua (R H) ar ast 7 fhaar aee?

Options:

1. v 63845




2 % 62576

3. » 62084

4. = 61835

Question Number : 111 Question Id : 5861804777 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The following figure shows two concentric circles with centre O. PQRS is a square inscribed in the outer circle. It also
circumscribes the inner circle, touching it at point B, C, D and A. What is the ratio of the perimeter of ABCD to that of
circumference of the outer circle?

P B Q
A 0 C
5 D R

Options:

1. = 4: =

? % 8:m

3 ¢ 2: T

4 = 6: ™

Question Number : 111 Question Id : 5861804777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A & 1§ el $hy O AT Y WHRA ged F qefeh §1 PORS WEd gea F w1 g3 U T ¢ T
AR gea @ off aies @ar &, 37 3% f4g B, C, D 3k A ¥ T3 &¥ar &1 ABCD & i@ 3k
e Jod 1 IR F g AT w4

p B Q
A<D>c
5 D R

Options:

1. = 4: =

? =% 8:m

3. v 2t m

4 = 6: 1

Question Number : 112 Question Id : 5861804778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an equilateral triangle, three symmetrical sections are cut as shown. What is the ratio of the area of equilateral
triangle to that of the shaded region?

\

[

\

Options:



4. # V3-n

Question Number : 112 Question Id : 5861804778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THag e &, &9 wafAa TSt # QT A F HFER FET AT E| FHAg S F fhe 3R
BIIfod 817 % aTThe 1 HeIId Tal HL?

\

&

\

Options:
243
1 Y S V3—m
243
=




Question Number : 113 Question Id : 5861804779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The length of a rectangle is two-third of the radius of a circle. The radius of the circle is equal to the side of the square,
whose area is 1521 sq.units. What is the area (in sq.units) of the rectangle if its breadth is 13 units?

Options:
1. v

faa
L]
Ls)

? % 676

3. % 169

4. % 1521

Question Number : 113 Question Id : 5861804779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH HOS T FETS, T god H AT B E-AErs §1 Iea B Bewr T H o= F W §, ome
& % 1521 sq.units &1 IfE 3mag Fr =@isg 13 unit &, a7 3MTT FT &5F (sq.units H) AT F|

Options:

1. v 338
2 % 676
3 % 169

4. % 1521



Question Number : 114 Question 1d : 5861804780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B and C do a piece of work in 24, 12 and 6 days respectively. A and B start to work and work together for 4 days,
after which B leaves and C joins. After 2 days, C leaves and A is left alone to complete the work. How many more
day(s) will A take to complete the work?

Options:
1. = 4

“
<
S

Question Number : 114 Question Id : 5861804780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3R C TF Fd & FAw: 24, 12 3R 6 et # qu d &1 A AR B w6 1% % w17 § 3R 4
A T AU FA RIE, EF T BFR oS T g IR CHFR F aFa @ I 81 2 BA &
aTe, C ff 1 O a1 € 3R A FF W e F T 3ker @ e g1 A 96 W F 56w A
T F T A # e & e

Options:

1. = 4

Question Number : 115 Question Id : 5861804781 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
A, B and C can do a piece of work in 24 days, 30 days and 40 days respectively. They begin the work together, but C
leaves 8 days before the completion of the work. In how many days would the work be completed?

Options:

1. % 15days
2 w l0days

3w 4days

1. » 12days

Question Number : 115 Question Id : 5861804781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3R C w& &1 &I %A 24, 30 3R 40 & & 0 #Fa §1 T tF WY FHA FET F T &,
Aferet F1H & & 8 foT 9ger &1 C #1H B &1 g1 & 9 X F &7 & W B & forea fe=
CEIEIr

Options:

1. = 15 fe=

2.« 10 R

3. . 4R

4, v 12 %=

Question Number : 116 Question Id : 5861804782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car of length 3 m wants to overtake a trailer truck of length 18 m within 7 seconds. Both are travelling in the same
direction. The speed of the truck is 90 kmph. At what speed should the car travel?

Options:



1. = 12ms

? % 24mfs

3. ¢ 28mis

4 = 36m's

Question Number : 116 Question Id : 5861804782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFH 3m s FX 7 TFE & a7 18 m o9 ol TF T N1 Ferolar =gy &1 g1ar U & fger & =
W &1 ZF Fr 71fT 90 kmph ¥l TaT F F TF T 30T Twew & BT F Fr e Baer g =fie?

Options:

1. = 12 m/s
7w 24 mis
3. v 28 mis
4. = 36 mis

Question Number : 117 Question Id : 5861804783 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In the route of a Metro Rail there are ten stations, each of length exactly 20% more than that of the rake. The distance
between each pair of consecutive stations is five times the length of the rake, which is 200 m. The duration of halt at
every station is 20 seconds. If the average speed of the train between two consecutive stations is 13.95 m/s, then the
entire route would be covered in how many minutes?

Options:
1. = 15



Question Number : 117 Question Id : 5861804783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT I F AR H TH TS §, TeUF B A8 & B ol H 20% A& F| FARA FAA H TAw
ST & & FT g Y F FEIS F AT o g, S 200 m 71 EW BT R Tl I 3@ 20 Hehs
g1 TfE FAEE & TE F @ & Fr siwg T 13.95 mys § A T F F QAR F a7 = A
fraet fAee & g7a w2

Options:

1. = 15
2. v 16
3= 20
4 = 24

Question Number : 118 Question Id : 5861804784 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A starts walking at 3 kmph. After 2 hours, B starts cycling in the same direction at 5 kmph from the same point from
where A starts. After how much distance (in km) will B catch up with A?

Options:
1. = 20



4 = 10

Question Number : 118 Question Id : 5861804784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3 kmph Fr 71fd F T o FIAT §| 2 UE TG, F@ @ A F oA 4% Fhar oM, B o 38 pr # 5
kmph #r =1ty & FEfe Tomar 9% #ar g1 B Eae gt (km &) 915 A & @1 geme?

Options:

1 % 20
2. v 15
3. % 25
4. % 10

Question Number : 119 Question Id : 5861804785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the number of seats reserved in different classes in a train on five different days. The
capacity of each class is given in the bracket.

| g | D | I I

Day Class | Class | Tier | Tier | Tier
Non- | Non- | AC | AC [ AC
AC | AC | (500)|(250) | (150)
(B00) | (500)

Monday TS50 | 410 | 390 | 240 | 145

Tuesday 820 | 400 | 450 | 230 | 120

Wednesday | 730 | 360 | 480 | 220 | 130

Thursday 640 | 480 | 490 | 190 | 122

Friday TOO | 490 | 495 | 210 | 140

What is the ratio of the number of reservations in non-AC classes on Tuesday, Wednesday and Thursday to the number
of vacant seats in AC classes on Monday and Friday?

Options:
1 « 343:18

7 % 18:341

3. % 343:9

. % 9:343

Question Number : 119 Question Id : 5861804785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A= & T T U IF F T FerEr-3veT GAr # ¥ At # smfEe det w3 b
T ¥ geiw Aoh B erEar e F & d

&= AEGIE gudF Sof |l & |1l dmx || &R
Aot AT |Sewdr | odr (500) | T (250) | TET (150)
Tdr (900) | (500)

THER 750 410 390 240 145

FeER | 820 400 450 230 120

AR 730 360 480 220 130

TEAR 640 480 480 190 122

SETIEY 700 490 485 210 140

FIER, AR AR IRAR F A-wHr ATET # AT F FEa T @HaR AR AR @ var Aot
# o diet & Fer # 3g9a Fd

Options:

1. « 343:18

2 % 18: 341

3. % 343: 0

4. % 9: 343

Question Number : 120 Question Id : 5861804786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the number of seats reserved in different classes in a train on five different days. The

capacity of each class is given in the bracket.

Day Jnd = I II I
Class | Class | Tier | Tier | Tier
Non- | Non- | AC AC | AC

AC | AC | (500)| (250) | (150)
(900) | (500)

Monday T50 | 410 | 390 | 240 | 145

Tuesday 820 | 400 | 450 | 230 | 120

Wednesday | 730 | 360 | 480 | 220 | 130

Thursday G640 | 480 | 490 | 190 | 122

Friday T00 | 490 | 495 | 210 | 140

If the data related to the 2@ Class non-AC reserved seats is represented by a pie-chart, then the central angle of the

')ﬂd

sector representing reserved seats in class non AC for Friday is (correct to the nearest integer):

Options:
1. «+ 69°

? % 68°

3. % 70°

4 = 65°

Question Number : 120 Question Id : 5861804786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A= & 7 e v e F Oi oot BT # Rfdes Aftet # smf@Ee At S g &+ g
2| Ioier AU @ &THaT dee H & TS 3

fe= g |wumaoh (N dm (1 dmm |1 &
guofr - |SwdEr | oEY (500) | TET (250) | TET (150)
T (900) | (500)

THIR 750 410 390 240 145
AeER | 820 400 450 230 120
AR 730 360 480 220 130
AR 640 480 490 190 122
AFIR 700 490 495 210 140

ofE gudr Aol &7 I-ver IR die ¥ FaUa 387 H IE-AC G@N g S, a qEaR & e gadr
Aoft 7 Tt FRTET el A arer FFeT F HaF HoT (eredsm uis & e w7 aa #

Options:

1. v 69°
7 = 68°
3w 70°
4. = 65°
General English1
Group Number : 7
Group ld: 586180228
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 586180232

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180319
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5861804787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
idiom:

Your grandparents are coming to stay with us, so you need to
mind your p’s and g's.

Options:

1. = to mind one’s own business

2. = 10 be careful about one’s dress
3. = not be confused about anything
4. v to be careful about what one says and does

Question Number : 121 Question Id : 5861804787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined

idiom:

Your grandparents are coming to stay with us, so you need

to mind your p’s and g’s.




Options:

1. = to mind one’s own business
2. %= to be careful about one’s dress
3. = not be confused about anything

4, v to be careful about what one says and does

Question Number : 122 Question Id : 5861804788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
idiom:

Our boss is a very arrogant person, some of us play second
fiddle to him.

Options:

1. = to play fiddle to please someone

2. v to take up a subordinate role

3. % to ignore a bossy person

4. = to cut off relationship with one’s boss

Question Number : 122 Question Id : 5861804788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined

idiom:

Our boss Is a very arrogant person, some of us play

second fiddle to him.

Options:

1. = to play fiddle to please someone

2. v to take up a subordinate role



3. ® to Iignore a bossy person

4. = to cut off relationship with one’s boss

Question Number : 123 Question Id : 5861804789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

Wood swims in the water.

Options:

1. = sails on

2. v floats on
3. = slides on
4. = no improvement

Question Number : 123 Question Id : 5861804789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

Wood swims In the water.

Options:

1. = saills on
2. v floats on
3. # slides on

4. * no Improvement



Question Number : 124 Question Id : 5861804790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

Marine biologists have discovered that the shark has a
commonly large brain.

Options:

1. v a remarkably

2. = a signally
3. » a surpassingly
4. = no improvement

Question Number : 124 Question 1d : 5861804790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

Marine biologists have discovered that the shark has a

commonly large brain.

Options:

1. v a remarkably

2. % a signally

3. ® a surpassingly
4. = no Improvement

Question Number : 125 Question Id : 5861804791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is one word substitution for the given
phrase:

One who is the centre of attraction.

Options:

1. = cynic

2. = pessimist
3. v cynosure
4. = protagonist

Question Number : 125 Question Id : 5861804791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s one word substitution for the

given phrase:

One who is the centre of attraction.

Options:

1. * cynic

2. ® pessimist

3. ¥ cynosure

4. = protagonist

Question Number : 126 Question Id : 5861804792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

The train left half hour hefore scheduled time.

Options:

1. = a, the



2. v an, the
3.%a,4a
4, = an, a

Question Number : 126 Question Id : 5861804792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

The train left half hour before scheduled time.

Options:

1. = a, the
2. v an, the
3. % a, a
4. = an, a

Question Number : 127 Question Id : 5861804793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

It was only time I did skateboarding. There has never
been such exciting moment in my life. Thank you so
much for such lovely time.

Options:

1. v the, an, a
2. ® an, an, a
3.%4a,4a,a

4. = the, a, a

Question Number : 127 Question Id : 5861804793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks:

It was only time | did skateboarding. There has
never been such exciting moment in my life. Thank
you so much for such lovely time.

Options:

1. ¢ the, an, a

2. % an, an, a
3. % a, a, a
4. = the, a, a

Question Number : 128 Question Id : 5861804794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

161 man stranded 20 miles the coast of New Zealand
survived inflating his jeans a series of knots.
Options:

1. = along, through, in
2. % 1n, on, with

3. v off, by, with

4. = off, on, by

Question Number : 128 Question Id : 5861804794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks:

167 man stranded 20 miles the coast of New
Zealand survived Inflating his jeans a series of
knots.

Options:

1. = along, through, In
2. = |n, on, with
3. v off, by, with
4. = off, on, by

Question Number : 129 Question Id : 5861804795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

See you the exhibition Monday S5pm.

Options:

1. = by, on, on
2. = at, at, at

3. # next, on, at
4, v at, on, at

Question Number : 129 Question 1d : 5861804795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

See you the exhibition Monday Spm.

Options:

1. = by, on, on



2. = at, at, at
3. = next, on, at
4, v at, on, at

Question Number : 130 Question Id : 5861804796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

I accepted the job only the salary, which was high, but
my friend accepted the job of the salary, which was low.

Options:

1. = because, as

2. v because of, inspite of
3. % as, as

4. = for, for

Question Number : 130 Question Id : 5861804796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

| accepted the job only the salary, which was high,
but my friend accepted the job of the salary, which
was low.

Options:

1. = because, as
2. v because of, inspite of
3. * as, as

4. = for, for



Question Number : 131 Question Id : 5861804797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

My brother was too short to play professional basketball, so
he went into coaching :

Options:

1. v instead

2. » Infact

3. = like wise
4. = moreover

Question Number : 131 Question Id : 5861804797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

My brother was too short to play professional basketball, so

he went Into coaching

Options:

1. ¢ Instead
2. = Infact

3. = like wise
4. = moreover

Question Number : 132 Question Id : 5861804798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

I should have been more sensitive in dealing with my sister. I
can only blame for what happened.

Options:



1. * me

2. %1

3. v myself
4. = her

Question Number : 132 Question Id : 5861804798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

| should have been more sensitive In dealing with my sister.

| can only blame for what happened.
Options:

1. = me

2. = |

3. v myself

4. = her

Question Number : 133 Question 1d : 5861804799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

I did not write the essay , mother helped :

Options:

1. * myself, her, her

2. = ourselves, my, us
3. = itself, my, me
4. v myself, my, me

Question Number : 133 Question Id : 5861804799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks:

| did not write the essay : mother helped

Options:

1. = myself, her, her
2. = ourselves, my, us
3. = Itself, my, me

4. v myself, my, me

Question Number : 134 Question Id : 5861804800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

logical reason could move parent from this decision.

Options:

1. = Each, both

2. v No, either

3. = No, neither

4. = Every, neither

Question Number : 134 Question Id : 5861804800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks:

logical reason could move parent from this

decision.

Options:

1. = Each, both



2. v No, either
3. = No, neither

4, = Every, neither

Question Number : 135 Question Id : 5861804801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks :

Use up sugar that is left in the bottle.

Options:

1. = a little
2. = little

3. v the little
4. = much

Question Number : 135 Question Id : 5861804801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks :

Use up sugar that is left in the bottle.

Options:

1. = a little
2. = |ittle
3. v the little

4. = much

Question Number : 136 Question Id : 5861804802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the correct passive form of the
given sentence:

The principal denied admission to my friend.

Options:

1. = My friend is denied admission by the principal.

2. v My friend was denied admission by the principal.

3. » My friend was deny admission by the principal.

4. = My friend will be denied admission by the principal.

Question Number : 136 Question Id : 5861804802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct passive form of the

given sentence:

The principal denied admission to my friend.

Options:

1. = My friend Is denied admission by the principal.
2. v My friend was denied admission by the principal.
3. = My friend was deny admission by the principal.

4. = My friend will be denied admission by the principal.

Question Number : 137 Question Id : 5861804803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the
given sentence:

The doctor said to my mother, “You only need to exercise
more and eat well.”

Options:



1. = The doctor said to my mother exercise more and eat well.

2. = The doctor advised my mother to exercise more and eat
well.

3. = The doctor said to my mother only exercise more and eat
well.

4. v The doctor told my mother that she only needed to
exercise more and eat well.

Question Number : 137 Question Id : 5861804803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the

given sentence:

The doctor saild to my mother, “You only need to exercise

more and eat well.”

Options:

1. = The doctor said to my mother exercise more and eat

well,

2. » The doctor advised my mother to exercise more and

eat well.

3. = The doctor said to my mother only exercise more and

eat well.

4. v The doctor told my mother that she only needed to

exercise more and eat well.

Question Number : 138 Question Id : 5861804804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct order of this jJumbled
sentence:

to say this / has been telling lies/ but your brother /I hate

Options:

1. = To say this your but brother has been telling lies I hate.
2. = But your brother has been telling lies to this I hate.

3. v I hate to say this, but your brother has been telling lies.
4. = But your bother I hate has been telling lies to say this.

Question Number : 138 Question Id : 5861804804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence:

to say this / has been telling lies/ but your brother / | hate

Options:

1. = To say this your but brother has been telling lies |

hate.
2. % But your brother has been telling lies to this | hate.
3. v | hate to say this, but your brother has been telling lies.

4. = But your bother | hate has been telling lies to say this.

Question Number : 139 Question Id : 5861804805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence:

Like /fof /1/you /sort

Options:



1. = I like you of sort.
2. v I sort of like you.
3. = I like sort of you.
4. = You like sort of L.

Question Number : 139 Question Id : 5861804805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence:

Like f of / | / you / sort

Options:

1. = | like you of sort.
2. v | sort of like you.
3. = | like sort of you.

4. = You like sort of |.

Question Number : 140 Question 1d : 5861804806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence:

is bitterly cold and dry / although / Antarctica / not lifeless / it
is

Options:
1. v Although, Antarctica is bitterly cold and dry, it is not
lifeless.

2. = It is not lifeless, Antarctica is bitterly cold and dry,
although.



3. = Although it is bitterly cold and dry, Antarctica it 1s not
lifeless.

4. = It is bitterly cold and dry, Antarctica 1s not lifeless
although.

Question Number : 140 Question Id : 5861804806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jumbled

sentence:

Is bitterly cold and dry / although / Antarctica / not lifeless /
it Is
Options:

1. v Although, Antarctica is bitterly cold and dry, 1t i1s not

lifeless.

2. = |t 1s not lifeless, Antarctica I1s bitterly cold and dry,

although.
3. # Although 1t I1s bitterly cold and dry, Antarctica i1t i1s not

lifeless.

4, = |t 1s bitterly cold and dry, Antarctica i1s not lifeless

although.
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Question Number : 141 Question Id : 5861804807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word:

Compact

Options:

1. v condensed

2. % loose

3. = lengthy

4. = unconsolidated

Question Number : 141 Question Id : 5861804807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct synonym for the given

word:

Compact

Options:

1. v condensed
2. % |oose

3. = lengthy

4. = unconsolidated

Question Number : 142 Question Id : 5861804808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word:

Austere

Options:

1. = extravagant
2. = luxurious
3. v sombre

4. = Indulgent

Question Number : 142 Question Id : 5861804808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word:

Austere

Options:



1. = extravagant
2. = |luxurious
3. v sombre
4. = Indulgent

Question Number : 143 Question Id : 5861804809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word:

Heterogeneous

Options:

1. = identical

2. = uniform

3. » homogenous
4, v diverse

Question Number : 143 Question Id : 5861804809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word:

Heterogeneous

Options:

1. = identical
2. % uniform
3. = homogenous

4. v diverse



Question Number : 144 Question 1d : 5861804810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word:

Candid

Options:

1. = prejudiced
2. v outspoken
3. » tricky

4. = gly

Question Number : 144 Question 1d : 5861804810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct synonym for the given

word:

Candid

Options:

1. = prejudiced
2. v outspoken
3. = tricky

4, = sly

Question Number : 145 Question Id : 5861804811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word:

Prodigal



Options:

1. = stingy

2. = modest
3. v wasteful
4. = careful

Question Number : 145 Question 1d : 5861804811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct synonym for the given

word:

Prodigal

Options:

1. = stingy
2. * modest
3. v wasteful

4. = careful

Question Number : 146 Question Id : 5861804812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word:

JOVIAL

Options:

1. = pleasant

2. * happy

3. v cheerless
4. = amiable



Question Number : 146 Question Id : 5861804812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word:

JOVIAL

Options:

1. = pleasant
2. % happy
3. v cheerless

4. = amiable

Question Number : 147 Question Id : 5861804813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word:

CLANDESTINE

Options:

1. = hidden

2. v Open

3. = covert

4. » concealed

Question Number : 147 Question Id : 5861804813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct antonym for the given

word:

CLANDESTINE

Options:

1. = hidden
2. v open
3. % covert

4. = concealed

Question Number : 148 Question Id : 5861804814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word:

OSTENTATIOUS

Options:

1. v plain

2. = showy

3. ® extravagant
4. = flashy

Question Number : 148 Question Id : 5861804814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word:

OSTENTATIOUS

Options:



1. ¢ plain

* showy

2.
3. = extravagant
4.

» flashy

Question Number : 149 Question Id : 5861804815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word:

CONTEMPLATIVE

Options:

1. = thoughtful
2. » reflective
3. v active

4. = meditative

Question Number : 149 Question Id : 5861804815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word:

CONTEMPLATIVE

Options:

1. = thoughtful
2. = reflective
3. v active
4

. * meditative



Question Number : 150 Question Id : 5861804816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word:

DESTITUTE

Options:

1. = needy

2. » desperate

3. » Impoverished
4. v wealthy

Question Number : 150 Question Id : 5861804816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct antonym for the given

word:

DESTITUTE

Options:

1. = needy
2. » desperate

3. = Impoverished

4, v wealthy
Sub-Section Number: 2
Sub-Section 1d: 586180321
Question Shuffling Allowed : Yes

Question Id : 5861804817 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)



Question Label : Comprehension



Read the passage to answer questions.

The nature versus nurture debate is about which part of a
person is more important—their inherited qualities, which
includes genes, or their personal experiences and the way
they were brought up. For years, scientists have tried to find
out what causes people to have different personalities,
behaviours, and characteristics.

The nature versus nurture debate poses a very complicated
scientific question: how do scientists figure out which one
plays a greater role in the development of a person? Many
scientists study twins that have separated at birth to answer
this research question. Scientists use twins because they have
identical genes, so it makes it easier to observe the effect of a
person’s environment. Do you think twins raised in different
homes will grow up to have the same personalities?

The view that humans acquire all or almost all of their
behavioral traits from “nurture” was termed tabula rasa,
Latin for “blank slate,” by philosopher John Locke. This idea
proposes that humans develop only from environmental
influences. One example of a person’s trait that is completely
determined by their environment is native language. Studies
show that children, regardless of where they're born, can
learn any language with equal facility.

The term “nurture” has historically been defined as the care
given to children by the parents, with the mother playing an
important role. Now, this term is regarded by some as the
environmental (non-genetic) factor of a person’s
environment. This new definition of “nurture” has been
expanded to include, not just a person’s family upbringing,
but also everything else they experience in daily life including
advertisements, media, education, peer influences, and home
environments.

Some scientists have concluded that a person’s nature—
meaning the traits they got from their parents—have more
power in determining a person’s identity than how they are
nurtured, or raised. Inherited traits are traits that are
developed before birth.

Some genetic traits are highly heritable, such as eye color.
Some disorders or diseases are also heritable. However,
environments are still influential in how that disease affects a
person’s life; for example, people who are bhorn with a disease
may live a long time depending on how they are cared for.
There are also some non-genetic factors that are highly
heritable. For example, a wealth and social status are two
non-genetic factors that are generally passed down from
family.

Some people criticize the whole concept of “nature versus
nurture.” They claim that it is an overly simple way to think
about a persen’s identity. Perhaps the answer is not as simple.
Are there other factors beyond genes and environment that
make us who we are?



Sub questions

Question Number : 151 Question Id : 5861804818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question:

In the Nature vs Nurture debate, nurture refers to:

Options:

1. = traits one is born with

2. = physical features

3. v the way a person is brought up
4. = controlled learning

Question Number : 152 Question 1d : 5861804819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question:

Tabula rasa theory negates:

Options:

1. v nature

2. » nurture

3. = both nature and nurture

4, = neither nature nor nurture

Question Number : 153 Question Id : 5861804820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question:

What example does the writer give to support nurture being
more important than nature?

Options:

1. = identical twins
2. v children learning a language



3. » mother bringing up a child
4. = Inherited physical features

Question Number : 154 Question Id : 5861804821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question:

Which of these traits is not inherited?

Options:

1. = colour of the eyes

2. = some diseases

3. v personal experiences
4. = some disorders

Question Number : 155 Question Id : 5861804822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option that is the correct answer to the question:

One can conclude from the passage that:

Options:

1. v There are factors other than genes and environment that
make what we are.

2. » The tabula rasa idea is more credible than the gene
theory.

3. » The inherited traits theory hold a better position.

4. = There is no way to know which is responsible for making
us what we are- nature or nurture.

Question Id : 5861804817 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage to answer questions.

The nature versus nurture debate is about which part of a
person is more important—their inherited qualities, which
includes genes, or their personal experiences and the way
they were brought up. For years, scientists have tried to
find out what causes people to have different personalities,
behaviours, and characteristics.

The nature versus nurture debate poses a very complicated
scientific question: how do scientists figure out which one
plays a greater role in the development of a person? Many
scientists study twins that have separated at birth to answer
this research question. Scientists use twins because they
have identical genes, so it makes it easier to observe the
effect of a person’s environment. Do you think twins raised
in different homes will grow up to have the same
personalities?

The view that humans acquire all or almost all of their
behavioral traits from “nurture” was termed tabula rasa,
Latin for “blank slate,” by philosopher John Locke. This idea
proposes that humans develop only from environmental
influences. One example of a person’s trait that is
completely determined by their environment is native
language. Studies show that children, regardless of where
they're born, can learn any language with equal facility.

The term “nurture” has historically been defined as the care
given to children by the parents, with the mother playing an
important role. Now, this term is regarded by some as the
environmental {non-genetic) factor of a person’s environment.
This new definition of “nurture” has been expanded to
include, not just a person’s family upbringing, but also
everything else they experience in daily life including
advertisements, media, education, peer influences, and home
environments.

Some scientists have concluded that a person’s nature—
meaning the traits they got from their parents—have more
power in determining a person’s identity than how they are
nurtured, or raised. Inherited traits are traits that are
developed before birth.

Some genetic traits are highly heritable, such as eye color.
Some disorders or diseases are also heritable. However,
environments are still influential in how that disease affects
a person’s life; for example, people who are born with a
disease may live a long time depending on how they are
cared for. There are also some non-genetic factors that are
highly heritable. For example, a wealth and social status are
two non-genetic factors that are generally passed down from
family.

Some people criticize the whole concept of “nature versus
nurture.” They claim that it is an overly simple way toc think
about a person’s identity. Perhaps the answer is not as
simple. Are there other factors beyond genes and

environment that make us who we are?



Sub questions

Question Number : 151 Question Id : 5861804818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that Is the correct answer to the question:

In the Nature vs Nurture debate, nurture refers to:

Options:

1. = traits one I1s born with
2. = physical features
3. v the way a person Is brought up

4. = controlled learning

Question Number : 152 Question Id : 5861804819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that Is the correct answer to the question:

Tabula rasa theory negates:

Options:

1. v nature
2. % nurture
3. % both nature and nurture

4. = nelther nature nor nurture

Question Number : 153 Question Id : 5861804820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct answer to the question:

What example does the writer give to support nurture being

more important than nature?

Options:

1. = identical twins

2. v children learning a language
3. * mother bringing up a child
4. = Inhernted physical features

Question Number : 154 Question Id : 5861804821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that Is the correct answer to the question:

Which of these traits Is not inherited?

Options:

1. = colour of the eyes
2. * some diseases
3. v personal experiences

4. * some disorders

Question Number : 155 Question Id : 5861804822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that Is the correct answer to the question:

One can conclude from the passage that:

Options:



1. v There are factors other than genes and environment

that make what we are.

2. » The tabula rasa idea i1s more credible than the gene

theory.
3. = The inherited traits theory hold a better position.

4, = There I1s no way to know which Is responsible for

making us what we are- nature or nurture.
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Read the passage and answer the following questions:

When 12 young foothallers and their coach entered the Tham
Luang Nang Non cave in Thailand, it was supposed to be a fun
outing after foothall practice. But when a torrent of flood
water rushed in after heavy rain, the group became trapped
on a small rock shelf deep inside the cave’s vast network of
tunnels.

It was nine days before two British divers, John Volanthen
and Richard Stanton, located the group — mercifully alive
and apparently in good physical and mental health. But how
do people cope with such life-threatening events? And why is
it important to focus on psychological, as well as physiclogical
impact?

When the boys first became aware that they were facing a life-
threatening situation they would have experienced a number
of physiological reactions. Fight or flight responses, such as an
increase in heart rate, would have kicked in immediately,
designed to help us stay alive.

But despite their physiological benefits, these neurochemical
changes can affect our brain, and impair our mental
functioning. During the initial stages of an emergency
situation our brains may perform poorly, potentially resulting
in poor decision-making and memery failures. Fortunately,
when the flood waters came crashing in, the Thai footballers
and coach appear to have remained level headed. They were
able to control feelings of panic, and made the rational
decision to find a safe place and wait.

As the immediate danger from the flood waters receded,
more long-term survival needs will have come into focus.
Everyone knows that the human body has basic physical
requirement: an adequate supply of food, water and warmth.
What people often forget is that brain function is also
sensitive to environmental factors. When exposed to the
elements, dehydrated, hungry, or suffering from sleep
deprivation, the human brain cannot function within its
normal operating parameters.

In these conditions people can make poor decisions which can
put them at risk. The Thai foothallers seem to have managed
to keep themselves hydrated, and although they were clearly
hungry when they were found, they appeared cognitively
intact, looking alert and asking appropriate questions. Again,
this shows that the boys and their coach managed to stay hoth
physically and psychologically healthy during the nine long
days they spent waiting in the dark.

In a survival situation, your mental health is just as
important as your physical health. Maintaining a positive
attitude is crucial: pecple who remain optimistic are more
likely to think that adverse events are controllable, and so are
more likely to undertake positive hehaviours to try and
survive. Pessimistic thinking increases feelings of anxiety and
helplessness, which can stop people from trying to proactively
improve their situation.

In extreme cases, people can give up mentally, withdraw into
themselves, and even die. This is known as psychogenic death,
essentially giving up. From the early footage, the footballers
seem to have managed to stay positive while awaiting rescue.
They are seen laughing and joking with the divers — a very
promising sign.

Another way to maintain mental strength is to draw on any
social support available in the situation. The fact that the Thai
footballers have been able to draw on each other through
their ordeal will have been a big boost to their mental health.



Sub questions

Question Number : 156 Question Id : 5861804824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question.

The boys entered the cave to:

Options:

1. = play football in the cave

2. = rest after playing

3. # play hide and seek

4. v have an outing after football practice

Question Number : 157 Question 1d : 5861804825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question.

Which of these did NOT happen to the boys and the coach.

Options:

1. v taking rash and irrational decisions
2. = being leve] headed

3. » Keeping their panic under control
4. = being able to take rational decisions

Question Number : 158 Question Id : 5861804826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question.

That the boys could keep themselves physically and mentally
in good shape was because:

Options:

1. * They had faith in their coach.



2. v They kept themselves well hydrated and could think
clearly.

3. = They were sure that they would be rescued.
4. = They were trained to face such life threatening situations.

Question Number : 159 Question Id : 5861804827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question.

What was responsible for the boys coming out of the
traumatic experience without much damage?

Options:

1. * The coach inspired them and gave them confidence.
2. = The expertise of the divers who rescued them.
3. = They were very lucky.

4. v They maintained a positive attitude and bonded with
each other.

Question Number : 160 Question Id : 5861804828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct answer to the question.

‘psychogenic death’ means:

Options:

1. = dying willingly

2. v glving up hope

3. = death due to drowning in cave
4. = death in a group

Question Id : 5861804823 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Read the passage and answer the following questions:

When 12 young footballers and their coach entered the
Tham Luang Nang Non cave in Thailand, it was supposed
to be a fun outing after football practice. But when a torrent
of flood water rushed in after heavy rain, the group became
trapped on a small rock shelf deep inside the cave’s vast
network of tunnels.

It was nine days before two British divers, John Volanthen
and Richard Stanton, located the group — mercifully alive
and apparently in good physical and mental health. But how
do people cope with such life-threatening events? And why
is it important to focus on psychological, as well as
physiological impact?

When the boys first became aware that they were facing a
life-threatening situation they would have experienced a
number of physiological reactions. Fight or flight responses,
such as an increase in heart rate, would have kicked in
immediately, designed to help us stay alive.

But despite their physiological benefits, these neurochemical
changes can affect our brain, and impair our mental
functioning. During the initial stages of an emergency
situation our brains may perform poorly, potentially resulting
in poor decision-making and memory failures. Fortunately,
when the flood waters came crashing in, the Thai footballers
and coach appear to have remained level headed. They
were able to control feelings of panic, and made the rational
decision to find a safe place and wait.

As the immediate danger from the flood waters receded,
more long-term survival needs will have come into focus.
Everyone knows that the human body has basic physical
requirement; an adequate supply of food, water and warmth.
What people often forget is that brain function is also
sensitive to environmental factors. When exposed to the
elements, dehydrated, hungry, or suffering from sleep
deprivation, the human brain cannot function within its
normal operating parameters.

In these conditions people can make poor decisions which
can put them at risk. The Thai footballers seem to have
managed to keep themselves hydrated, and although they
were clearly hungry when they were found, they appeared
cognitively intact, looking alert and asking appropriate
questions. Again, this shows that the boys and their coach
managed to stay both physically and psychologically healthy
during the nine long days they spent waiting in the dark.

In a survival situation, your mental health is just as
important as your physical health. Maintaining a positive
attitude is crucial: people who remain optimistic are more
likely to think that adverse events are controllable, and so
are more likely to undertake positive behaviours to try and
survive. Pessimistic thinking increases feelings of anxiety
and helplessness, which can stop people from trying to
proactively improve their situation.

In extreme cases, people can give up mentally, withdraw
into themselves, and even die. This is known as
psychogenic death, essentially giving up. From the early
footage, the footballers seem to have managed to stay
positive while awaiting rescue. They are seen laughing and
joking with the divers — a very promising sign.

Another way to maintain mental strength is to draw on any
social support available in the situation. The fact that the
Thai footballers have been able to draw on each cother
through their ordeal will have been a big boost to their

mental health.



Sub questions

Question Number : 156 Question Id : 5861804824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that Is the correct answer to the question.

The boys entered the cave to:

Options:

1. = play football in the cave
2. = rest after playing
3. = play hide and seek

4. v have an outing after football practice

Question Number : 157 Question Id : 5861804825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that Is the correct answer to the question.

Which of these did NOT happen to the boys and the coach.

Options:

1. v taking rash and irrational decisions
2. * being level headed
3. » keeping their panic under control

4. = being able to take rational decisions

Question Number : 158 Question Id : 5861804826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct answer to the question.

That the boys could keep themselves physically and

mentally in good shape was because:

Options:

1. = They had faith in their coach.
2. v They kept themselves well hydrated and could think

clearly.
3. = They were sure that they would be rescued.

4. = They were trained to face such life threatening

situations.

Question Number : 159 Question 1d : 5861804827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct answer to the question.

What was responsible for the boys coming out of the

traumatic experience without much damage?

Options:

1. = The coach Inspired them and gave them confidence.
2. = The expertise of the divers who rescued them.
3. = They were very lucky.

4, v They maintained a positive attitude and bonded with

each other.

Question Number : 160 Question Id : 5861804828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct answer to the question.

‘psychogenic death’ means:

Options:

1. = dying willingly
2. v giving up hope
3. = death due to drowning In cave

4, = death in a group
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Question Number : 161 Question Id : 5861804829 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TITST 3T SIeC; 32

Options:

Question Number : 161 Question Id : 5861804829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YIS HET ASg &7

Options:

1. = Tagelr
2. v geral
3. » dcdH
4. » TEg

Question Number : 162 Question Id : 5861804830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T B 9T Yo, Tga B2

Options:

1. v &Il
2. * POR
3. = DiTder
4. % g

Question Number : 162 Question Id : 5861804830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feeT & & i OT o6g diaT &7

Options:

1. v hell
2.*@1’




3. % IThel
4. % HRT

Question Number : 163 Question 1d : 5861804831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & I BT 9T e goaw §?

Options:

1. = qraT
2. % del
3. v g
4, » IR

Question Number : 163 Question Id : 5861804831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT A & i TT 25 dcdH &7

Options:

Tt
2. % ool
3. v cd ii cl
4, = BN
Question Number : 164 Question Id : 5861804832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g # & S o= aTelT 9%, 3

Options:

1. * giarad
2. % qiadia
3. = yareta
4, v qaIad

Question Number : 164 Question Id : 5861804832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




o & & g ader arel oree &:

Options:

1. = gfaféra
2. = giasia
3. % FAr&d
4. v ganEa

Question Number : 165 Question Id : 5861804833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TP — TP A, T DT TG 37 g

Options:
1. = ®7 -9
2. v g - &7

3. T —gd
4, = G — I

Question Number : 165 Question Id : 5861804833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T - TR e, A FT Tl 379 &

Options:

1. = & - Tl

2. v Tl - &9
3. % A - Fead
4.*%—@

Question Number : 166 Question Id : 5861804834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v HIddTh
2. * JeTdrdd




3. % SAddT=ID

4, * S hdTd

Question Number : 166 Question Id : 5861804834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FETT TohT U hT AT §7

1. v HIGddR
% TETdTeh

2.
3. % FATTdarTeh
4.

% SY[FddIdh

Question Number : 167 Question Id : 5861804835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DI GETH BT TICATITETD [T 37

Options:

1. = ST
2. % 3ddTl
3. = [Na=T
4. v ToaAr

Question Number : 167 Question Id : 5861804835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fiel’ TdTH T INATUES [GATT &7

Options:

1. = =qaT
2. % 3ol
3. = Torgar
4. v Tordar

Question Number : 168 Question 1d : 5861804836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




YA T YehR BT Tarwor 32

Options:

1. #» JEATITTD

2. % UICHTUT STEeh

3. v TUrETI®
4. = GIAATHER

Question Number : 168 Question Id : 5861804836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &EIATAT<IHR
« TILATOT STeTeh

2.
3. ¢ NEIEES
4.
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Question Number : 169 Question Id : 5861804837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = STeET
2, ® HITAT
3. v e
4, = AT

Question Number : 169 Question Id : 5861804837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % §rgaT
2. % HANAT



3. v M
4. = 9T

Question Number : 170 Question Id : 5861804838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. » Ig
2. %
3. % gom
4. v FTE

Question Number : 170 Question Id : 5861804838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U HIH FIIhT BEM?° AT H TohdT TAwor &:

Options:
1. = g
2. % hH

3. % BT
4. v FATRT

Question Number : 171 Question Id : 5861804839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tgal T T fa=Se grom:
Options:

1. % T + 3o

2. v o + a7
3. %« & + 3
4. %= @Al + Fal

Question Number : 171 Question Id : 5861804839 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = ™+ 39
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3. % 9T+ 39
4, % 97+ 3T

Question Number : 172 Question 1d : 5861804840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v agdilg
2. % &g
3. = Ta1r
4. * qcgey

Question Number : 172 Question Id : 5861804840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4

Question Number : 173 Question Id : 5861804841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Options:

1.9
2. v 9y



3. % W
4, % Il

Question Number : 173 Question 1d : 5861804841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = &
2. v OH
3. = el
4. = FIOT

Question Number : 174 Question Id : 5861804842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 5861804842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = &
2

2. % o

3. v 3o
4, % ol

Question Number : 175 Question 1d : 5861804843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v Eliel
2. * YU
3. = P
4. = ST

Question Number : 175 Question Id : 5861804843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foiFet & et @71 2rsg FHifelar §7

Options:

1. v 2lieT

Question Number : 176 Question Id : 5861804844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“UGAT TgaT AT T TTe=¢ BT IETET 57

Options:

1. * AT U~
2. * G-TH UCa8
3. = TSy uee-e
4, v TondT Uce=¢

Question Number : 176 Question Id : 5861804844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % AT UcseeT

2. = TAATH USFeeT




3. » TAQIVUT UcEeel
4. v TopIT USHed

Question Number : 177 Question 1d : 5861804845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » AT IUATH

2. » TohdT ST

3. = TopaT TASIWT SUaTad
4, v T Iarad

Question Number : 177 Question 1d : 5861804845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question 1d : 5861804846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question 1d : 5861804846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v O3 Ay

2. = T8y gy
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4. % IUGTHT

Question Number : 179 Question Id : 5861804847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » R arerdt 3 R
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3. « offY et & e
4. « et 3 Reeam o

Question Number : 179 Question Id : 5861804847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. = g erdar g Tl
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Question Number : 180 Question Id : 5861804848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 5861804848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 3Pl AT A A&l AT
2. % 3% ST Flel oTar ATl

3. v 3Tl T Rl dAal AT
4. % 3Rl FTT FLAT 6l AT
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Question Number : 183 Question Id : 5861804851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hpee forgerT gAY §7

Options:

1. v fwop
2. = o g
3. = §EHAT
4. = 3IrOTET

Question Number : 184 Question Id : 5861804852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STy fhgeT Tl 3?

Options:

1. = Theur
2. v T
3. = MW




4, = PUST

Question Number : 184 Question 1d : 5861804852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SATART TohdehT TITERT &7

Options:

1. = fopTor
2. v TG
3. % 3
4,

® hUsT

Question Number : 185 Question Id : 5861804853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qT e Tt T8 2

Options:

1. v 3T
2. % ST
3. = T&T

4, = diRT

Question Number : 185 Question Id : 5861804853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v 3TRTeT
2. % §TOT
3. = gafT
4, « ORI

Question Number : 186 Question Id : 5861804854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘STTATT Pl TAeIH LSS &



Options:

1. * A
2. % THTIT
3. v gQHTd
4. % THATT

Question Number : 186 Question Id : 5861804854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘UATA T AT o5 &

Options:

1. = 9THTaT
B

2. = YHTOT
3. v HFHTA
4. = THATT

Question Number : 187 Question 1d : 5861804855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘UG’ T TAeTIA I

Options:

1. » ¥Ig

2. v faug
3. % Mg
4. = TG

Question Number : 187 Question Id : 5861804855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3elarg’ T fdelld glem:

Options:

1. » HIg
2. v T9rE
3. % IS




4. = G

Question Number : 188 Question Id : 5861804856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g Thgar el g2

1. = THOT
2. % eiTed

3. » diod
4. v T

Question Number : 188 Question Id : 5861804856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:
2.
3. * Hidd
4.

Question Number : 189 Question 1d : 5861804857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT ST GE&X T &1’ UTth & @i TES, BT A6t G

Options:

1. = TTTel
2. % THET
3. = e

4. v §b

Question Number : 189 Question Id : 5861804857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ST FEL TFAT A1’ Ui & IFTMehed M58 T [TellA Fa:

Options:




. ¢ Heh

o,

Question Number : 190 Question Id : 5861804858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o T Fre T T

Options:

1. = TO®
2. % 3dieh

3.v U
4, » O%h

Question Number : 190 Question Id : 5861804858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Nad” &1 TalH &

Options:

Sub-Section Number: 2
Sub-Section 1d: 586180325
Question Shuffling Allowed : Yes

Question Id : 5861804859 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

(Question Label : Comprehension



STl T MY MErTer @l Ugeht U Y T[T th IqaT &gl

WEgHTel I Piel U GHIST DI HoU+T BEdT g gl BIe, TS & 9e AT g, Jgl
g WISAR o 1Y Heg B AT 91T g1 17 Felhl U W 3ITST eI 7T Tl
# o8 AWCT ToloT WY ST Teh ISTGL gl GHT & Tel T WIS el Terd<ur Fur
gl & hid TAISY Dl STCTETIT eich AT YT 37Td g1 ST THE UDR
STPHITET i HTAT gl U DId GaAdT 1gd ATgd gl WITALATeTdT, AT,
3ITGET, &HT, AT 3MTiE, AT Hodi <l STt @l I i UT hicrdr
T 3T FTd 3 3R T YUY bl AT & ERTdel I @+ & [eld dgd 3l
Bel 1Y, G, Jordr, HIXT, SITIET, THGT 3TTE, GHT ehich U deel el GHT T[0T
&t G FdTd gl FETDTAT Hierl § I allet DT IgY 97 T d7l o
AT PIET-THT § 5T T Pl TATHIR B 3l ST HIAdl § aqATT Pt UST
3R wiarser &t ar fererarT ¢

Sub questions

Question Number : 191 Question Id : 5861804860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TrTer # fooeT spiadl o Seoid 37

Options:

1. = 3MICHTelT Bia

2. v HEdRTelIT Pia

3. * ATdPTei Pia
4, % 3TYh hid

Question Number : 192 Question Id : 5861804861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST T 3T &

Options:

1. v glo=ied &Rumm
2. % QR

3. ® THeUAT
4, = GaeT

Question Number : 193 Question Id : 5861804862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




“GUPI BT 31 FiaT 3

Options:

1. * 31T
2. % TTY
3. % TqH
4. v gaY

Question Number : 194 Question Id : 5861804863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tarqur @ 3ref 3

Options:

1. = &9

2. v TCART
3. = [Fmior
4. * YTER

Question Number : 195 Question Id : 5861804864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Weh hid Thd dd I T UM T HSR AT g

Options:

1. = gcd
2. = 3rrgar
3.vUH
4, = AT

Question Id : 5861804859 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sl T8 a0 AT T TEh I 91T Y&l & 3o eIl
AEhTolld hid U AT I heUdl FIdl & SIal Bie, a3 I
e AT 8, S8l T HSIR & 1Y o g 3 Tur 91 & 910
TR YT | 37T TAATA I H B3 JET el 8 gHehT TR
3ETEY0T &1 TeT & ToIv afioieT &7 AaRor 9aT 81 T +ig
TATSY R ITUROM R FAN A 377 &1 Zelshl THD
USRI ATRHI hl ATTAT gl HFd Hid Taarl gd BT ol
VRTTCIelTeIcT, HATeTadT, 3T&dT, &Y, TITeT 3MiE AT Hedl sl
TYROM I T HId TAT hiddT T 3T T & 3T AT
IO S ATdddT & _Idel W 3%a & [T Fad &1 FaR,
T, Tordr, AN, ST, @@ 31 @ Fd 97 deg T qul
IO T FWTel ST &1 FEIRTellel KidAT A T el HT ATEH
AT T AT T ITAT FEI-ITAT H 5T T I TR Fd ol
ZoT hIdAl H TAAT I THAST N HiasT 1 ar gt o7

Sub questions

Question Number : 191 Question Id : 5861804860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl H Tohel AUl T el g7

Options:

1. = 3TfehTelled Fia

2. v HEThTollel hid
3. = JTdehTollel hid
4.*31@%65%

Question Number : 192 Question Id : 5861804861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FTYROM kT 7T &

Options:



B W=
®

Question Number : 193 Question Id : 5861804862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR T 37T BT &

Options:

1. = 3mael
2. % JATT
3. % Tt
4. v T

Question Number : 194 Question Id : 5861804863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaaTor &1 3T &

1. = Tl

2. v ScaNT
3. = fa@mor
4, » YgEr

Question Number : 195 Question Id : 5861804864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HFd Fid T Teg w1 Tl 0N T UK AT &:

Options:

1. » G

2. = Mfgar




3. v OH
4. = @

Sub-Section Number: 3
Sub-Section 1d: 586180326
Question Shuffling Allowed : Yes

Question Id : 5861804865 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

St T&d T el el UGeht U8 T TLHT & IqaT Gyl

JEID GHIGTSIT & 31Td <h STelpoul HE o 0T Tl Tg=cr uaT §
Giiged STHHg & g DI [dord g’ e ¥ ey Toar 31 Fiiged ol
STHHgE ¥ SShL TTdeTe) Piadl @ Taoeg TeliaT Sl ST THqg & g §
TS g ATdere; TerdT ATAIT Bl YTIMTA gl g oiddh Ageaqui AU
T WTAR YHTE, Tgac) 3T AHTE, Yot gl 9eh AT ek FgT dpiaar
Sfiien Heier § 9 St 3 e & T4 STITAT &l SJTEAT i 3N ATdeprei
Yol & S Yeh B BT YA [Tl STeIcpsur W i Ag SMTetlaT &8 Tl
H qep Tl SMTeATarchId S8 el YAUTT Bed! gl WRAG G h 3MTetlaiehl &
STeThUUT WS i YIADT 3iTeieh Ageaqul At WRAS ZIT # 3MTefIeT ol fadrg
& & F UF-UEdnrai # Yoh1iSia giv aver et 3 qEadhl i GHrgman
g gIdT g SIT Tg=< STelI<IT @l YBHTH T HHT TEd il gl

Sub questions

Question Number : 196 Question Id : 5861804866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS & e, § g oI T SITeATe-T Dl 82

Options:

1. v STelhtn] He

2. * WETAIR q4Te Tgddy

3. * {Hdq el

4, * Y=g




Question Number : 197 Question Id : 5861804867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST g o Fiiged dI Thad Toh L BT 1T [haT?

Options:

1. » S9Yg

2. % geg

3. v SfFPEAT Tg
4. % GHN

Question Number : 198 Question Id : 5861804868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GAUTT T 7Y 3

Options:

1. v 3IRY
2. % 3d
3. % 3cYT
4, = Td+

Question Number : 199 Question Id : 5861804869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

JUTITH BT 3N 3

Options:

1. = 9T
2. v 3TUHdH ST

3. * “ZqH AT
4. = J2ANT

Question Number : 200 Question Id : 5861804870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATdere, TRt Frigedr ATHAT Thad ST 372

Options:

1. * ol GHg h Tad &
2. % TIETL 91T et g &

3. * S D gig ¥




4. v SITHHE H gT &

Question Id : 5861804865 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

sl f&r a0 AT T e Y AT YAl & 3ca ST
JEcTeh THIGTI3T o 3TN STelfsoT o & 3Tell TET Tgeal
TS H CHIged SdAg & gad 1 dh & Aided & foiwe
forr 3T @1fged T STedag & Siisehd JTaaer Fiadr & 9eg
AT T STEHg * Fad & SE a1 ffcare e
EGTT T BT BT & [ HAgcaqol FAUR 3T HAETAR
e feader 3N TAwe el &1 g0k AR ‘Feedl widdr
ofiver oo H H1E ST o HIddT & o JTAT hl SATEAT hl
AR (fRreler Ugfcd & 38 FFd Flal FT 9AE RAT| STerehsoT
HE hT I AT Ev¢ Beal H Uk oTaldd JTelldehlT EI5& <hl
HIAATT RICAT &1 WG JIT K JHTollrehl H STelhs0T o7g hr
AR 37Tk FgeaquT ATl g JIT A el T Toehrd
AeT ¥ & YF-9HF13T # GRIET gl arel fodget 3 gede
T AT & BT § S T@ear sfeliaetr $r goasfd w1 Al

T Sl &1

Sub questions

Question Number : 196 Question Id : 5861804866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST o hg H Tohd ol@eh T 3Telldall HH &7

Options:

1. v STelHSUT Hg

2. » HEEN vdG fqgddr




3. = JTHAUG QA#H

4. » HARdeg

Question Number : 197 Question Id : 5861804867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STOIRUT 812 o Alfacd FI fhad FFd Fa T 74 fhar?

Options:

1. » STIHAg

2. = &
3.&?'&%@@?9@%
4. = AT

Question Number : 198 Question Id : 5861804868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RERIGEIC I D

Options:

1. v ARY

2. % 3d

3. * 3cUTd

Question Number : 199 Question Id : 5861804869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘NRATA T 3 &
Options:

1. = drAT

2. v HATshas drAT
3. * TYeIdH HIAT
4. = GIET



Question Number : 200 Question 1d : 5861804870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fifcrare. fovrdt anfeca siferamer foreer Sgsam 87

Options:

1. = Sellel THg & ead &
2. % TIENT e Tomw &
3. * SITOHE #T gig &

4. v A F I F




